Constitutional Law Outline – Spring 2007, Professor Larsen; Brest, Levinson, et al., 5th Ed.

Development and Ratification of the US Constitution
1) Articles of Confederation – weak federal power
a. Key Features:

i. Conceptually considered a treaty among a group of small nations.

ii. No interstate or foreign commerce power.

iii. No power to tax.

iv. No national judiciary or genuine executive branch.

b. Call to revise and amend the Articles:

i. The Annapolis Conference met to consider the failures of the Articles and determine if there is a need for revision.  This led to the authorization of the Convention “for the sole and express purpose of revising the Articles of Confederation.”

ii. However, the delegates agreed that they would not allow the failures of the Articles and the emergencies of the situation destroy the national government because they were not given express power to create a Constitution.
1. The convention disobeyed the purpose and order of the Convention.

c. Constitutional Convention:

i. Only 9 States were needed to ratify the Constitution, effectively eliminating Rhode Island’s veto power.

ii. Two proposals:

1. Virginia Plan and Connecticut Plan.  They represented a compromise between Southern and Northern concerns which were manifested in the 3/5ths Compromise, etc.
iii. Debate in include the Bill of Rights.  Included as a concession because it was thought as unnecessary; rights not enumerated were reserved to the people and the states.

d. Key features of Constitution:

i. Four Big Points:

1. Written; in England their constitution was not written.

2. Popular Sovereignty; the people have the power (not monarchy or aristocracy).

3. Federalism; the concept of two co-existing governments

4. Separation of Powers; distinct and defined branches of government

ii. Compared to Articles:

1. Each state had one vote (needed all to change the Articles), one congressional chamber, weak executive/congress, and no judiciary..

iii. Compared to English Constitution:

1. England used parliamentary system which blended monarchy, aristocracy, and democracy.  Not written.
Bank of the United States – McCulloch v. Maryland
1) Early Background:

a. Secretary of Treasury, Hamilton, wanted to establish a national Bank.
b. The Constitution does not speak on granting corporations to institutions competing with private ones.  Corporations received special privileges and if you wanted to get one, you had to go to the state.  A national bank would aid in collecting taxes and could loan money to the national government.  But there was s general distrust of corporations in general at the time.
2) The First Bank of the United States:

a. Madison’s view:

i. Offered 5 principles of interpretation.  Purpose, consequences (when meaning is unclear), who were the ratifying parties, look to what the people were saying at the time, and assume implied powers if they can be constructed as such.
ii. Three places where the Constitution speaks on Congress’ power to create a bank.

1. Taxing provision – but the Bank is not taxing anything.

2. Borrowing – but the Bank is not borrowing anything.

3. Necessary and Property to execute the specified powers.

a. Necessary = absolutely necessary, not convenient.  Uses a slippery slope argument and suggest the national government will gain too much power.

b. Can’t use a “chain” of implications to make something necessary and proper.
c. The terms necessary and proper give no additional powers to those stated.

b. The Attorney General’s (Randolph) view:

i. Can’t imply the power to create a Bank; this would give the federal government too much power.  Necessary = absolutely necessary and not convenient.
c. Jefferson’s critique of the Bank:

i. Necessary = absolutely necessary.  To take this power would give Congress boundless power to do much more.

ii. Only those powers strictly enumerated and everything else should be left to the states.

d. Hamilton’s Defense:

i. The nature of government assumes implied powers.  The limits of implied powers are when the means do not carry out the express powers.  A Bank is a means to an express end.
ii. Necessary = convenient, not absolutely necessary.  Look at the relationship between the means and the end (the degree).

iii. There are examples of Congress executing an implied power because it is an appropriate means to an express end; Lighthouses and regulating trade.

iv. Bank is best for the public good.

3) The Second Bank:

a. The First Bank had not been renewed and the federal government went without it for 4 years.  It realized that it was seriously inconvenienced without it.

b. Congress passed the Bank and Madison signed it into law because the debate was settled by experience (not on constitutional grounds).

c. Jefferson changed his view too and said that the Bank was constitutional.

4) Judicial Examination of Congress’ Authority to Create the Bank:

a. The Second Bank was wildly unpopular and seen as a symbol of power and money by the elites.  States, therefore, tried to undermine it.
b. McCulloch v. Maryland: the first issue
i. Facts: Maryland passed a state statute which taxed any bank not chartered by the state.  The only bank not chartered by the state was the US Bank branch.  The branch refused to pay the tax.
ii. Rule of Law: certain federal powers giving Congress the discretion and power to choose and enact the means to perform the duties imposed upon it are to be implied from the Necessary and Proper Clause.
iii. Issue ( Does Congress have the power to incorporate a Bank?  YES, the bank is constitutional.
iv. The federal government is for the People, not the States (but Rhode Island never ratified the Constitution).
v. Constitution = great outline for government, not a legal code.  This is a shift away from the principle of the Articles.
vi. Where there are express powers, this implies the means to execute these express powers.  The government should have the choice to employ the means to execute.

vii. Necessary and Proper = convenient, not absolutely necessary.  Congress already employs non-stated means to execute stated powers without argument.

c. Reaction to McCulloch:

i. Marshall’s opinion is not limited to a Bank, but is a broad sweep of power reserved to Congress.

ii. Patrick Henry, Jefferson, and Madison all thought this was a dangerous decision.  They feared consolidated government.

d. Marshall’s Methods of Constitutional Interpretation:

i. Text:

1. Usually the first place to start an analysis.

2. Can take the text too literally and get dumb results.

ii. Theory and Structure of the Constitution:

1. Interpret in light of the basic nature of SOP and Federalism.  A nation’s sovereignty demands certain powers in order to execute its nature.

iii. History surrounding the adoption of the text:
1. How was the document understood at the time it was created?  Culture of the time.

2. What did the framer’s intend?  Original meaning of the document?

3. Look to outside sources = Federalist Papers, records, etc.

4. Subsequent history.

iv. Prudentialism (Consequences):
1. Pick the decision with the best outcome.  Which one maximizes benefit and minimizes harm?

2. Two types; good consequence in general for all cases, or just this particular decision?

v. Precedent:
1. Prior decisions and cases, along with congressional records, debates, etc.

vi. Fundamental Values (National Ethos):

1. The principles deeply rooted in the culture but not stated.  The “spirit” of the Constitution.

e. Louisiana Purchase:

i. The deal had to be closed quickly, so there was a time pressure to act.  There was no time to determine whether the purchase and expansion of the nation’s territory was constitutional through the court system.

ii. Jefferson simply said it purchasing land was unconstitutional (not in the text), but went forward with the treaty nonetheless because it was best of the nation’s interest for self-preservation and saving the country.  He suggests amending the constitution after the Purchase.  Sacrificing the ends to the means.

iii. This issue comes up later when Lincoln suspends Habeas Corpus.

f. McColluch v. Maryland: the second issue

i. Facts: same as above.  The Bank is constitutional and Congress has the power to grant such corporations competing with private ones.
ii. Rule of Law: The Federal Constitution and the laws made pursuant to it are supreme and control the Constitutions and laws of the States.  States cannot tax the federal government directly.
iii. Issue ( can a State tax a branch of the national Bank without violating the constitution?  NO.

iv. The power to tax is the power to destroy.  Does not distinguish between a little tax and a huge tax.

v. States can tax their own institutions and people and are held directly accountable.  But a tax against the federal government is a tax against all people in the states.  These people cannot hold the state accountable.

vi. Therefore, bright line rule = no tax directly (can do it indirectly through individuals hired by the federal government; but can’t discriminate, must be applied uniformly to all).

g. Notes:

i. Johnson v. Maryland:

1. Post Office employee driving a government vehicle on official business does not need to have a state driver’s license, in the absence of any federal regulation on the subject.
2. J. Holmes stated it should be the federal Department’s duty to determine competency.  However, he cautioned that overriding rule cannot extend to things like driving in the wrong direction.  This is a very fine distinction.
3. States have far less power to regulate federal instrumentalities than to levy taxes against federal officials.

h. The Demise of the Second Bank:

i. Andrew Jackson’s veto: example of the Executive stepping in and interpreting the Constitution
1. Argues that the two other branches have a role determining what is appropriate and necessary and proper.  This is their constitutional interpretation.
2. Two arguments:
a. First – mere precedent is dangerous source of authority.

b. Second – the US SC only said that when the degree or relationship is appropriate then Congress can implement something like a Bank.  Therefore, the Executive and Congress should decide whether a Bank is really necessary or is an appropriate degree.

The Marshall Court and the Early Republic

1) The Supreme Court in Its Initial Years: 1789-1801

a. Ware v. Hylton was the first case where judicial review was used to evaluate a state law.  However, it was intended only for that case.

b. Reviewed state legislation which conflicted with federal statutes and construed federa legislation in light of the constitution.

c. Developed single “opinion of the court” concept.

2) The Election of 1800:

a. The point of Madisonian democracy was to elective virtuous citizens to focus on the aggregate interests of the community instead of political parties.  This, however, didn’t last long.
b. By the election of 1796, two parties developed; the Federalists (Adams and Hamilton)and the Democratic Republicans (Jefferson).

c. The election of 1800 ( Jefferson and Burr tied and received more votes than Adams because of the 3/5ths Clause (“ride the presidency upon the shoulders of slaves”).  Jefferson was supposed to win the Presidency and Burr was supposed to win the VP.  But they screwed up and tied.

d. The tie went to the Federalist controlled House of Representatives who hated Jefferson.  The House finally gave in and gave Jefferson the vote for Presidency.

e. 12th Amendment ( fixes the problem of the 1800 election and formally recognizes political factions.

f. Adams and the Federalists want to make things miserable for incoming Jefferson, so they pack the judiciary with judges in the final hours.

g. Judiciary Act of 1801:
i. Established a new set of circuit courts and judges.

ii. “Midnight judges” to declare legislation passed by Jefferson unconstitutional and make things difficult for him.

h. The Repeal Act (1802) and Judiciary Act of 1802:

i. Eliminated the new circuit courts and forced Supreme Court justices back to “riding circuit.”

ii. The Federalists challenged these courses of action: could Congress (1) eliminate the judgeships, and (2) assign members of the US SC to “inferior” courts.
i. Major hostility between Jefferson and these newly appointed judges.  Tells Madison not to even show up for trial and refuses to deliver the remaining commissions (to Marbury).

3) The Cases of 1803:

a. Stuart v. Laird and the Elimination of the Intermediate Appellate Judiciary:

i. Two arguments: US SC justices could not ride circuit and that the circuit judges held life tenure.
ii. US SC upheld the Repeal Act and Judiciary Act of 1802.  The Constitution does not limit Congress’ power to repeal circuit courts.
iii. This decision can be seen as acquiescing to the Republicans and Jefferson.  The US SC then strains to interpret Marbury in order not to offend the Republicans.

b. Marbury and Judicial Review of Legislation:

i. Marbury v. Madison:

1. Facts: Adams appointed Marbury as judge for a court in D.C.  Jefferson took over as President and his Secretary of State Madison withheld the commission to Marbury.  Marbury requested the commission, but Madison refused to deliver and didn’t show up for trial either.
2. Rule of Law: the US SC has the power, implied from Art. VI, § 2 of the Constitution, to review acts of Congress and, if they are found repugnant to the Constitution, to declare them void.
3. Issue 1 ( Does Marbury have a right to the commission he demands?  Yes

a. Fixing the seal and confirmation by the Senate is sufficient.  Delivery is not necessary.

4. Issue 2 ( If he has a right, and that right has been violated, do the laws give him a remedy?  Yes

a. There is remedy because the court can order specific performance; delivery of the commission.  Non-discretionary area where the court is bound by the law.

5. Issue 3 ( If there is a remedy, is an order of the court commanding the performance of the transmission of the commission sufficient? Yes

a. Court order is appropriate.

6. Issue 4 ( Is the Judiciary Act of 1789 Constitutional?  NO

a. The problem was that the Judiciary Act expanded original jx and allowed cases to go straight to the US SC.  This is unconstitutional and therefore Marshall strikes down the Act and tells Marbury to go to the lower courts first.  The US SC does not have jx to hear the case and dismissed.
7. Marshall relies on general principles (construe entire written document) and text (oath to uphold the constitution, supremacy clause, “arising under the constitution”).

c. The Precedents for Judicial Review:

i. England provided no basis for judicial review, however, state courts had been doing it.  Therefore, it came as no surprise.

d. Judicial Review in a Democratic Polity:

i. The Countermajoritarian Difficulty:

1. The US SC acts against the majority (the Leg) in order to keep things stable in society.  Judicial review is a deviant institution.

ii. Justifications for Judicial Review:

1. Supervising Inter- and Intra-governmental Relations:

a. Judicial review accomplishes two goals; it supervises the federal system (between federal and states) and the three branches.

b. Martin v. Hunter’s Lessee: US SC can review state laws
i. Dispute between state law and federal treaty.

ii. Virginia Court of Appeals held that federal appellate review of state decisions was unconstitutional; said that the US SC cannot tell the state courts what to do.  The US SC reversed and remanded back to the trial court, skipping the Court of Appeals.

iii. The US SC has review over state laws and has appellate jx because: supervisory control over federal laws/treaties and uniformity between the states is essential.

c. Cohens v. Virginia: US SC can review criminal proceedings
i. Defendants had been convicted in state court of violating a state lottery ticket law.  Defendants claimed immunity from a congressional act allowing D.C. to establish a lottery.

ii. Virginia argued that the US SC did not have appellate review over criminal cases.  Marshall said it did.

iii. Issue: does the US SC have appellate jx over state criminal proceedings?  YES

iv. It is important for the judiciary to review acts of the Leg.  The states are too numerous, not independent of the people, and not in a good position to determine what the Constitution means.  This should be left to the US SC who is independent.
2. Preserving Fundamental Values:
a. Bickel argues that judicial review protects the fundamental values of our society, which the Leg cannot protect because it is too involved with politics.

3. Protecting the Integrity of Democratic Processes:

a. Ely = participation-oriented, representation-reinforcing model.

b. Judicial review rea;s undesirable legislation and protects minorities.

iii. The Countermajoritarian Difficulty Challenged:

1. The Judiciary is not the only branch or mechanism which keeps the Leg in check; president, amendments, etc.

iv. Is life tenure a problem?

4) The Protection of Property Rights and the Natural Law Tradition:

a. Fletcher v. Peck:

i. Facts: Yazoo land-grant sandal.  The Georgia Leg was bribed to sell 35 million acres of land to private companies at a really low price.  A year later, the GA Leg passed a law to rescind the grant, but not before large parcels had been conveyed to other people (BFPs).
ii. Rule of Law: once a state passes a law which is in its nature a contract, it cannot divest those absolute rights that have bested under that contract by repealing the law because of the Contract Clause of the Constitution.
iii. The third party purchasers (BFPs) were innocent.  Normally, a Leg can repeal its own acts.  However, the Leg was acting under law and specifically creating a contract.  The Contract Clause prohibits states from interfering the obligations of contracts.
iv. Therefore, the GA Leg cannot repeal the act and take away the land it had granted (by contract) away.  It can get the land back from those who defrauded the GA Leg.

v. As for the BFPs, the GA Leg can do nothing because 1) general principles (natural law) or 2) constitution (Contract Clause), protects these BFPs.

vi. J. Johnson Dissent = agrees, but only because natural law demands respect of these contractual obligations.
b. Notes:

i. Natural Law: where is it derived?

1. Comes from history; the unalterable and unwritten rules of God.

2. English tradition of the Magna Carta; the notion that the CL is out there and judges must simply discover the correct law.

3. John Locke; social compact to protect natural rights of life, liberty, and property.

4. 9th Amendment of the Constitution hints that there are certain rights not stated which belong to the people.

ii. Should the Contract Clause include states or be limited only to private parties?

iii. Dartmouth College v. Woodward:

1. Dartmouth received a charter from the state to operate as a college (before provision to generally incorporate; had to have the government’s permission).
2. New Hampshire wanted to take it back and make the college a public institution.

3. Rule of Law: states can not unilaterally modify a private institution’s charter to place it under public control.

4. Marshall read the Contract Clause very broadly to include the Framer’s intent.

iv. Sturges v. Crowninshield:

1. A NY bankruptcy law could not operate retroactively to discharge a debt incurred before the law was enacted.

2. Prohibitive measure that apply retroactively defeat settled expectations will not be upheld by the US SC because of the Contract Clause.

c. Effect of Fletcher, Dartmouth College, and Sturges:

i. Gives power too private industry by protecting private contracts.  Corporations (state charters) have a lot of privacy and protection from the government derived from the Contract Clause (not the 5th, because the Bill of Rights do not yet apply to the states).

ii. Establishes a broad and expansive interpretation of the Contract Cluase.

d. Judicial Protection of Vested Rights:

i. Vested Rights Doctrine

1. Title to the interest and it belonged to the owner; immune from government divestment.

2. Marbury and Fletcher were about asserting vested rights.
ii. Calder v. Bull:

1. Facts: Connecticut probate court disapproved a will (where Bull would be the beneficiary), thus giving Calder (the heir to decedent) property rights.
2. Rule of Law: a state Leg may not deprive a citizen of a vested property right, even where such as is not expressly prohibited in the Constitution.

3. The nation was formed as a social compact.  Therefore, the government cannot violate the right of a lawful private contract or the right of private property (vested right).
4. Calder does not have a vested right of the property, so the Conn Leg can give Bull the property by declaring the ruling of the probate court null and void.

5. Court relies on natural law and general law concepts to justify its decision.

iii. Notes:
1. Ninth Amendment:
a. There is disagreement on whether to read the 9th Amendment narrow or broad.  This has an effect on whether there are natural law rights to be included.
b. Should the 9th Amendment be viewed in light of the argument between factions on whether to include the Bill of Rights or not?

5) American Indians and American Political Community:

a. Background:

i. What is the legal status of Indian Tribes?  Before American independence, the British treated them as sovereign nations.  However, after independence, they were nations living within the US.

ii. Indians were not deemed citizens; but later could be become citizens.

b. Marshall Trilogy: still good law today; Johnson, Cherokee Nation, and Worcester.
c. Johnson v. M’Intosh:

i. Facts: P bought land in 1773 and 1775 from Indians.  D received land from the US government.
ii. Rule of Law: native Americans had the right of occupancy but not ultimate title to their lands, and so could not sell land to private U.S. citizens.
iii. Issue( could Indian tribes transfer property title to private owners?  NO.

iv. The nation who conquered the land (Discovery Doctrine) owned title and the tribes simply had right of occupancy to the land, not absolute title.  US could not kick the Indians off their land because of this occupancy right.  The government must use legal means, so they created treaties.

v. Marshall does not like the consequences of the outcome of this case, but feels his hands are tied by tradition.

d. Cherokee Nation v. Georgia:

i. Facts: Cherokee tribe creates its own government, writes down its language, and forms a Constitution based on the US one.  The state of Georgia resented this and passed “Indian law” to undercut their government.  One Cherokee murders another Cherokee on tribal land and Georgia tries and finds the defendant guilty.  The Cherokee tribe appeals to the US SC to force Georgia to recognize its sovereignty because there was a treaty between Georgia and the Cherokee (Contract Clause argument to force Georgia to honor their contract/treaty).  The US SC dismisses the case because it says it lacks jx, because the tribe is not a foreign nation.
ii. Rule of Law: Indian tribes are Domestic Dependent Nations which occupy territories in the US.  The US owes a responsibility to look after and protect Indian tribes (guardian and a ward).  Tribes have all the sovereignty, but are not foreign nations.
iii. The US SC ducks the Contract Clause issue of the case and simply defines the legal status of Indian tribes.
iv. No majority but a 2-2-2 split.  Johnson (concurring) argues that the constitution does not define them as foreign states (he drifts away from his normal natural law methodology to get an outcome he likes).  
e. Worcester v. Georgia:

i. Facts: Georgia passed a state statute which made it unlawful to live in Cherokee land without a license.  Worcester was sentenced to four years in prison as convicted under the statute.
ii. Rule of Law: the Cherokee nation is a distinct community, occupying its own territory, in which the laws of Georgia have no force.
iii. Only the federal government can interact with Indians tribes.  State laws have no force within Indians lands.

iv. Georgia cannot pass state statutes that regulate what goes on in Indian territories.

f. Aftermath of Worcester:

i. President Jackson originally agreed with the decisions.
ii. He later changed his mind because of the doctrine of nullification.  He was saying that South Carolina had to comply with federal tariffs and that Georgia had to comply with the US SC.
iii. The problem was that the Worcester decision only binds the states, but does not bind the federal government.  Therefore, Jackson takes advantage of this through the Trail of Tears.
g. Modern Worcester Rules:

i. Basic idea exists today, but Indians can sue in state court and some serious crimes apply within Indian territories.

ii. Modern reservation system develops.

6) Regulation of Interstate Economy:

a. Commerce Clause:

i. Three parts: foreign, domestic, and Indian.
b. Gibbons v. Ogden: congressional plenary power over interstate commerce
i. Facts: the NY Leg gave L and F the exclusive right to operate steamboats in NY waters.  They assigned the right to operate steamboats between NY and NY to Ogden.  Ogden sought to enjoy Gibbons from operating steamboats on the same river.  Gibbon argued he had a license from a 1793 Act of Congress to operate.
ii. Rule of Law: the Commerce Clause gives Congress plenary power to regulate interstate commerce, including navigation within one state which affects other states.  Marshall, however, only says that Congress has the power when the federal law and the state law collide.  The absolute power is later established.
iii. Issues:

1. What is commerce?  = intercourse; going from one state to another with some commercial purpose.  Therefore, navigation is included.

2. How far does this power extend?  Spillovers into other states.  Activities completely intrastate are not included (change in New Deal era).

3. What is the scope?  To the limit.

iv. What happens when there is a state law?  

1. Marshall proposes three possibilities: 1) the federal government and the states have concurrent power (like the power to tax), 2) the federal government has exclusive power to regulate interstate commerce (Johnson concurrence), and 3) the federal government has power to regulate interstate commerce only when regulations collide.

2. The first proposal could not possibly be the correct distribution of power.  Therefore, options two and three are viable.  Marshall, however, only addresses congressional power when regulations collide and does not assert a rule in dicta concerning state regulation absent a federal statute.
v. Marshall rejects NY’s inspection law argument because these regulations only affect intrastate activities.
vi. Johnson concurrence ( Congress has exclusive power to regulation interstate commerce.

c. Notes: origins of dormant commerce clause doctrine.
i. Willson v. Black-Bird Creek Marsh Co.:

1. Facts: state granted company the right to build a dam across a navigable waterway.  A federally licensed sloop destroyed the dam in order to navigate the river.
2. Rule of Law: when congress has not acted, states may regulate interstate commerce.

3. The dam, in its purpose, is not repugnant to the Commerce Clause (damming the Delaware River…probably a different outcome).

4. Therefore, when there is no federal statute, a state may regulate interstate commerce in its dormancy.
ii. Founder’s Intent, Purpose, and Meaning:

1. When something is unclear or there is a dumb result, look to the intent.  Construction is a process of determining meaning, purpose, and intent.
2. Legislative aim = general effect of a policy.  Intent = specific details and characterizations of how to implement.

3. How do we know what the Founders were thinking?

a. The Constitutional Convention; debates , documents,
b. State ratification debates.
c. Congressional debates 

d. Federalist Papers

The Taney Court and the Civil War, 1835-1865

1) Background:
a. Party politics developed between the Whigs and the Democrats.

b. The 1824 Presidential Election was a train wreck.  Jackson got more votes but didn’t get a majority.  Therefore, it went to the House of Representatives and was essentially between Jackson and Adams.  Clay, Speaker of the House, convinced the House to vote for Adams and receive Secretary of State in exchange (the “Corrupt Bargain”).

c. States were given more power by deferring to them and narrowly constructing language in their favor.
d. Swift – federal general common law.

2) Interstate Foreign Commerce and Personal Mobility:

a. States’ “Police Powers” as a Constraint on the National Commerce Power:

i. Immigration: nothing in the Constitution about immigration.  Says Congress can determine who become citizens, but nothing about immigrants entering the US.  Federal law later dominates this area of law.
ii. New York v. Miln:

1. Facts: NY law required the master of a ship to submit a detailed report on those passengers foreign to NY, post security for the maintenance of immigrants, and remove any non-citizen deemed likely to become dependent.  NY attempted to assess $15K ($251K today) on D.
2. Rule of Law: the power of internal police being among those not surrendered by the states, a state retains complete, unqualified, and exclusive authority to enact police measures.
3. NY argues it can regulate interstate commerce in the absence of a federal regulation and, in the alternative, even if it cannot regulate in the absence, immigration is not commerce.

4. The US SC holds that immigration is not commerce.  The purpose of the regulation is to benefit New Yorkers and the regulation is not for commercial purposes (people are not goods and articles of commerce – if they were, then Congress could regulate slavery).  Therefore, NY retains the power to police as it pleases.

5. Concurring, J. Thompson: could be commerce, but because there is no collision, NY can regulate.

6. Dissent, J. Story:

a. There are certain powers retained by the states.  However, regulating immigration as NY is doing is arguably a mix of commerce and immigration.

b. Conceding a mix of these two substantive areas concedes the whole power.

c. Congress should have power because it involves commerce and uniformity.

d. Basically says that paupers and slaves (in Prigg) can’t travel between states.

iii. The confusion between the justices over Miln is later solved by Cooley.  Right now we say that when there is no federal statute, then a state may regulate interstate commerce.  Cooley better defines this.

iv. Cooley v. Board of Wardens:
1. Facts: Penn law requiring ships entered the port to hire a local pilot to navigate them into the port.
2. Rule of Law: the states may regulate those areas of interstate commerce which are local in nature and do not demand one national system.
3. Issue ( the Penn law clearly regulates interstate commerce (navigation).  Therefore, can Penn have a rule regulating interstate commerce?  YES

4. Court adopts a compromise:

a. If regulation is of “national” nature = only Congress can regulate (no state law, even absent a federal statute).

b. If regulation is of “local” nature = state law can regulate interstate commerce.

5. Locals are best situated to determine and apply appropriate laws.

6. Analysis:

a. Is a uniform (federal law) necessary?

b. Is the area of law “naturally” federal?
c. Is the issue substantially local in character?

d. Has Congress enacted a contrary law?

v. Pennsylvania v. Wheeling Bridge:

1. Facts: in the first Wheeling Bridge case, the US SC invalidated a law which Virginia passed for the construction of a bridge which affected interstate commerce.  However, Congress passed a bill allowing the bridge to remain.  The bridge later collapsed and the US SC said that the congressional statute was valid.
2. Rule of Law: Congress can consent to state regulation of interstate commerce which otherwise would be held to violate the commerce clause.
3. Issue ( Does the Supreme Court have the “last word” in regard to state regulations affecting interstate commerce?  NO
4. This is a situation where the US SC says that the state law interferes with interstate commerce, but Congress allows the state law to stand because it gives deference to the state law.

5. The US SC will give deference to Congress to allow states to regulation interstate commerce.

6. If Congress wanted to build the bridge itself, then it could delegate the power to do it.

b. Dormant Commerce Clause Progeny:

i. States may regulate interstate commerce when Congress has not acted.  Gibbons/Wilson.
ii. BUT, states laws that infringe on areas that are truly “national,” or admit of only one uniform system of regulation, may violate the Commerce Clause even if Congress has not acted.  Cooley.

iii. But, Congress can permit state laws that otherwise would violate the Commerce Clause.  Wheeling Bridge.
3) Slavery:

a. Background:

i. Many slave holders moved into the newly acquired Louisiana Purchase territory.  Should Missouri be admitted as a slave state or not?
ii. Missouri Compromise of 1820: Maine admitted as a free state and Missouri admitted as a slave state with no slave states in the future above 36.30.

b. Fugitive Slaves:

i. Prigg v. Pennsylvania:

1. Facts: federal statute in question involved the Fugitive Slave Act of 1793, which required the capturer of fugitive slaves to first obtain a certificate showing that the person owed service or labor from a court.  Margaret was captured in Penn and when a judge refused to issue a certification (because of lack of jx), Prigg forcibly took her back to her slave owner, in violation of a Penn state statute.
2. Rule of Law: since Congress has exclusive power to legislate regarding a slave owner’s constitutional right to reclaim his slaves, a state has no power to pass laws which interfere with or obstruct the owner’s right or the remedies Congress prescribes to aid and enforce the same.
3. Can Penn criminalize self help?  NO

4. Art. IV, § 2 of the Constitution protects a slave owner’s right to reclaim his slave.  Penn cannot legislate to make it more difficult or to aid in the recapture of slaves because this is an exclusive federal power (no concurrent power).  Later attacks by states on this exclusive power were resisted by the US SC.
5. Taney says that a state only can’t inhibit, but can help for the recapture.

6. Dissent (McLean) – majority is saying that there is a right to kidnap rooted in the Constitution; major exposure for blacks.

ii. Notes:

1. Essentially, the Fugitive Slave Act of 1793 was upheld and the Penn law was struck down.  Story (majority) was a unionist and wanted to keep the nation together.  This influenced his opinion greatly.
2. What should a judge do during this time?  Slavery is wrong but the law demands it?

a. Four options:

i. Apply the law and ignore morality

ii. Ignore the law and apply morality

iii. Resign

iv. Cheat and interpret the language in such a way as to avoid the conflict.

c. Prelude to Succession:

i. Background:

1. US won Texas and massive stretches of land in the West after the Mexican-American War.  This, combined with the land acquired by the Louisiana Purchase left the question of slave status in these territories for slave owners.

2. During this time, states were being added and there was uncertainty about which states would be admitted as free and which would not.

3. Compromise of 1850 – CA admitted as free, New Mexico and Utah would be self determined and stricter enforcement by the states of the Fugitive Slave Act.

4. 1854 – Missouri Compromise was repealed by the Kansas-Nebraska Act, which allowed state determination for KS and Neb.  Therefore, there is the possibility that NM, UT, KS, and Neb could all be slaves states.

ii. Dred Scott v. Sandford:

1. Facts: Scott was owned by a military surgeon (Emerson).  E took Scott into Illinois (free state), then into free territory, and then back to Missouri.  E died and wife assumed control of Scott.  Scott sued in state court (battery and false imprisonment) on precedent that if a slave is taken into a free state for a substantial time, this frees him.  Missouri Supreme Court overruled the precedent and said taking a slave into a free state does not free him (other states were doing the same).  Scott was sold to Sandford, a citizen of NY and Scott sued in federal court (diversity jx).
2. Rule of Law: 
a. (1) Since they are not “citizens” in the sense in which that word is used in the US Constitution, people who were slaves in this country, or who are the descendents of such slaves, cannot bring suit in federal court.

b. (2) The Missouri Compromise was unconstitutional because it violated property rights protect by the Due Process Clause (substantive due process rights in the 5th Amendment).

3. Issues ( Are slaves citizens (thus making suit for a slave possible)?  Does Congress have the power to ban slavery in the Territories?  NO, NO.

4. Taney essentially collapses the difference between free and slave with white and black.  Says that if you are black, then you have the same status as a slave in terms of citizenship
5. Taney relies on various history and intent to interpret “citizenship.”
a. Two types of citizenship; State and National.  Being a state citizen does not make one a national citizen and state citizenship is not enough to sue under Art. III (diversity jx).

b. Therefore, are slaves national citizens?

c. Indians = different because they are a separate nation.

d. History = treated as a lower class in England and during colonial times.
e. Early Legislation = treated blacks as an inferior class of People.

f. Declaration of Independence = all “People” didn’t contemplate slaves; otherwise would be wholly self-contradictory.  The Constitution continued this reasoning.
g. State laws in free states = distinguished between blacks and whites.  This is clear because if certain rights were intended to be given, then the laws would have looked much different.

h. Articles of Confederation to the Constitution = Articles used “citizen” while the Con used “free inhabitants.”

6. Dissent – Curtis

a. Got the history all wrong.  At the time of the adoption of the Constitution, some free persons descended from slaves were considered state citizens.
b. State citizens were intended to be conferred with National citizenship.

7. Slavery in the Territories; Taney goes to the merits even though there is no jx.
a. Scott says he is free by going into Illinois or free Territory.
b. Missouri law trumps Illinois law, so the only thing remaining is slavery in the territories.

c. Congress does not have the power to ban slavery in the territories because the Bill of Rights applies to these territories the US intends to add as states.  Because of the 5th Amendment, Congress cannot deny a slave owner’s right to property (slave).  Dicta = territories governments cannot deny a slave owner’s right to slave property.

d. This is an appeal to substantive due process rights.  However, this is a weak argument because it is a unilateral and voluntary movement of property.
e. Missouri Compromise is unconstitutional because it would deny an owner his property without due process of law.

iii. Frederick Douglass: response to Dred Scott
1. Appeal to only the text of the Constitution.  Intentions are irrelevant because Constitutional Convention debates were secret for a reason.
2. When the law is not clear or has two meanings, adopt the innocent principle as opposed to the wicked purpose when liberty and justice are at stake.
a. 3/5ths Clause = recognizes slaves as people.

b. Slave trade to end in 20 years = temporary provision

c. Slavery insurrections = Congress had ability to regulate and could end slavery.

d. Fugitive Slave Laws = does use the word slave, but owing service.

e. Preamble to the Constitution = says “we the people”

3. Congress can end slavery if it wants.  However, states usually define property rights.

iv. Judicial Supremacy and Dred Scott: The Lincoln-Douglas Debates

1. Lincoln argues that the decision is only valid for that case.  The two other branches (arguing like Jackson) and political means can be used to reversed the Dred Scott decision.

2. Lincoln would resist the Dred Scott decision by using legitimate and peaceful political means.

3. Douglas says that people should respect the US SC’s decision and respect property rights.
4. Tension – voting a respresentative into office in order to reverse a monumental decision like Dred Scott or Roe.

d. “And the War Came”: The President as Commander-in-Chief and the Preservation of the Union

i. By 1860, Lincoln is president and 7 states have seceded from the Union.

1. Issues:

a. Is there a constitutional right to secede?  No, according to the president

b. Does the president have the power to declare war?  The Prize Cases – Yes 

c. Can the president suspect the writ of habeas corpus?  Merryman – Yes 

d. Does the president have the power to emancipate slaves as a war measure?  Yes, according to the president

e. Did the North property use military tribunals instead of civil courts in prosecuting Southern rebels?  Ex parte Milligan – No 

ii. The Debate over Secession: conflicting opinions, but Lincoln’s wins because he is prez.
1. President James Buchanan Opposes Both Secession and War:

a. The Union is perpetual.  It is not a contract among several states, so therefore, the states cannot simply decide to leave.  States can nonetheless resist the federal government through political means.
b. The Constitution speaks nothing on secession (the tools of destruction).

c. The federal government is left without anything to do because it can’t use force to coerce a state to comply; this would run afoul to democratic principles.

d. Buchanan is left to decide he has no power to do anything to stop secession.

2. Judah Benjamin Defends Secession:

a. States are simply rescinding the rights it gave up in forming the Union.
b. Originally, the various states under the “perpetual” Articles of Confederation, replaced the Articles with the Constitution.  The same argument remains.

c. States have two rights for resistance and secession: technical violation of the Constitution and a violation of the Constitution in spirit.

d. The federal government was one of limited purpose and it has exceeded its purpose wrt slavery and state’s rights.

3. Jefferson Davis Takes the Helm of the Confederate States of America:

a. When peaceful democratic process cannot be used to change the perversion from the purposes the Union was created, then that nation should not longer exist.
b. Inherent right to leave what the states freely joined.

4. Lincoln Responds and Acts:

a. Fundamental law of all national governments that they are perpetual.  The Constitution presumed to be making a more perfect Union that was already in existence.
b. If the states contracted to enter into the Union, then it would take all of them to get out of it.  (However, not all the states ratified the Constitution, which seems to undermine this argument).

c. No state can lawfully secede and get out of the Union and it is the Executive Branch’s duty to see that the laws are executed in all the states.

iii. Notes:

1. Can Yolo County secede from the US?  What if a Southern Congress and President made slavery legal everywhere, could the Northern states secede?  Would Lincoln and other change their views of the Constitution?

2. In the end, secession is unconstitutional because the North wins the war and says it is.

iv. The Authority of the President to Repel Attacks on the Union:
1. Prize Cases:

a. Facts: pursuant to the Acts of Congress of 1795 and 1807, the President called out the militia and navy.  He also declared a blockade of Southern ports to seize merchant vessels and cargoes of foreign neutrals from entering the South.  The President did this in the time between the first battle and when Congress ended up meeting later.
b. Rule of Law: Congress can delegate to the President the power to use military force to suppress insurrection against the government of the US and, pursuante thereto, can take all measures necessary to this end.

i. The question of whether there is a foreign invasion or insurrection will be deferred to the President’s judgment.

ii. The government could seize neutral ships who try to pass through the blockade.

c. Can the President order the blockade and essentially declare war?  YES

d. Only Congress can formally declare war.  However, it is the President’s duty to protect against foreign invasion and insurrections.  Additionally, the Constitution provides the States with the power to defend themselves in times of resistance. If the States have this power, certainly the federal government has this power through the Executive.   

e. A civil war is considered two nations fighting against each other and this gives the Union the authority to order a blockade.  If the Union was not at war with anybody, then it could not order the blockade.

f. Nelson’s dissent reiterates the fact that Congress can only declare war.

2. Notes:

a. Can the President essentially declare a war without Congress and not violate the SOP?

b. States of exception (war) when the President doesn’t need Congress to act.

v. Lincoln and the Suspension of Habeas Corpus:

1. Writ of habeas corpus = by which person deprive of liberty can challenge the legality of their detention in a court.  A prisoner can’t be held for just any reason; there must be a legal charge against the prisoner.
2. Chief Justice Taney on the Authority of Congress:

a. The following opinion was an order to the President (Lincoln) that he didn’t have the power to suspend the writ and that the military cannot

b. Ex Parte Merryman:

i. Facts: Lincoln, without Congressional authority, sent an order to the Commanding Chief (a general) in 1861 authorizing him to suspend the writ of habeas corpus for anybody that he captured along the road to Washington DC.  The purpose was to prevent certain bad things from happening by acting quickly without procedure.  Merryman was arrested after allegedly destroying some railroad bridges after an antiwar riot in Maryland.  The court ordered the general to appear and he refused because Lincoln suspended the writ.
ii. Rule of Law: the President has neither the discretionary authority under the Constitution to suspend the writ of habeas corpus nor to delegate such authority.
iii. The part of the Constitution is Art. I, § 9; “the writ of habeas corpus shall not be suspended unless…”
iv. The suspension provision in the Constitution is in Art. I, about the Legislature, not in Art. II, Executive powers.

v. What about an emergency situation?  No, the Constitution is clear.

vi. Blackstone = good thing not to have suspension power in one person.

3. The President Asserts Executive Authority: Lincoln responds to Ex parte Merryman
a. First argument – are all the laws, but one, to go unexecuted, and the government itself go to pieces, lest that one be violated?

b. Second argument – the Constitution is not clear on who can suspend the writ.  In an emergency situation, the Executive should be given deference to these type of powers.

4. Notes:

a. Is “all the laws but one” a good argument?  The government in other times (New Deal) have folded to controversial issues during special times.

b. The problem is that it is subjective.  What if the North wanted to break away from the South because Congress made slavery legal everywhere?

vi. Lincoln: the Great Emancipator:

1. At first, Lincoln opposed freeing the slaves through proclamation.  His views of the constitution, obviously, changed over time.

2. Emancipation Proclamation freed slaves in areas still in active rebellion.  If there are slaves in other places, then the military justification fails.
3. Does this as a necessary war power.

4. Justice Curtis = proclamation is unconstitutional

a. Slavery is a state law issue and the federal government can’t overrule valid state laws concerning slavery.  Justifying it as a war power would mean the president could do anything during war.
b. Can’t violate property rights of people.

5. “Reverence for Law”:

a. Lincoln argued that there should be respect for all the laws.  However, this view changed later when he said that laws shouldn’t be violated arbitrarily, but during emergency times.

vii. The Use of Military Tribunals as an Alternative to Trial by Jury:

1. Ex Parte Milligan: STILL GOOD LAW TODAY
a. Facts: Milligan was arrested in Indiana for planning an uprising against the Union.  He was charged with treason.  There were no battles being fought in Indiana (not a theatre of war), but there were some anti-war sentiments there.  The Union didn’t feel they would get a fair jury there, so they tried Milligan and other defendants by military tribunal.
b. Rule of Law: a civilian charged with a crime may not be tried before a military commission where a court of law is available.  The courts must be closed and in an area of active theater of war.
c. Essentially, can civilians be tried in military commissions when civilian courts are open?  NO

d. Ordinary courts are open in Indiana and as a UC citizen, Milligan is afforded a normal criminal trial.
e. Concurrence suggests Congress can authorize military tribunals.

e. Summary of Taney Court:

i. Erosion of unity of the court.  Many opinions, not just one.

ii. Strong recognition of state’s rights.

iii. Interpreting the Constitution:

1. Dread Scott, right to self help to recover slaves, prohibition of Congress getting into slavery in the Territories, secession, war powers, habeas corpus, military tribunals, etc.

The Reconstruction Amendments

1) The 13th Amendment:

a. Abolishes slavery.
2) The 14th Amendment:
a. The 14th Amendment places limitations on the states, defines citizens, give privileges and immunities, protects due process (procedural and substantive), equal protection of the law, reduces representation if blacks cannot vote, and gives Congress power to enforce these rights through appropriate legislation.

b. The big winner is the federal government, big corporations, and economic freedom.

c. Privileges and Immunities:
i. The Slaughterhouse Cases: killed the privileges and immunities clause
1. Facts: Louisiana Leg enacted a statute which gave a monopoly to one slaughterhouse and chartered it to construct a large slaughterhouse to be available for other butches.  It prohibited any other slaughterhouses in the city.  The purpose was for health, comfort, convenience, and to remove the industry from the crowded city.  Other slaughterhouses sued on grounds that this statute violated the 14th Amendment.
2. Rule of Law: the P & I Clause of the 14th Amendment only guarantees those federal rights protected as of the time of the amendment’s adoption.
3. The US SC views the Reconstruction Amendments in light of their purpose.  The regulation is satisfactorily police power.  Is it involuntary servitude?  No.  Due Process?  No.

a. Does it infringe on the privileges and immunities?
b. There are two types of citizenship, state and national.  Therefore, the P & I Clause protects only what is guaranteed to national citizenship.  The federal government protects a narrow set of rights; the right to travel, use navigable waters, become a citizen of any state, assemble, habeas corpus, etc.

c. Corfield v. Coryell – only those privileges and immunities which are fundamental, which below to the citizens of all free governments.

d. Begs the question, are these the rights the US fought the Civil War for?

4. P & I fits narrowly into a few rights.  This is part of the “general constitutional law” protections.
5. Majority vs. Minority = narrow vs. broad.

6. J. Field Dissenting – granting a monopoly is an invasion upon the liberty of citizens to sell their labor freely.

7. J. Bradly dissenting – the purpose of the 14th was much broader; apply the Bill of Rights.
8. J. Swayne Dissenting – freedom to sell labor; otherwise it would echo slavery.

d. Due Process Clause:

i. After Slaughterhouse, it was questionable if the 14th Amendment required that the Bill of Rights apply to the states.  Development in this area rules that the BoR does apply to states.
ii. Incorporation of the Bill of Rights against the States:
1. Barron v. Baltimore:

a. The original BoR affirmed various rights against the central government, but none against the states.

2. After the Civil War, it becomes clear that there needed to be an extension of the BoR to the states.
3. Some argue a “declaratory” interpretation of the BoR; applies to the states.  Soon thereafter, the US SC held that the 5th Amendment requirement of just compensation applied to the states.

4. Gitlow v. New York:

a. 5th = 14th when it comes to First Amendment rights.

5. Adamson v. California:

a. J. Black’s dissent on “total incorporation” of the BoR.

6. Brenan’s “selective incorporation” was eventually accepted, which most of the BoR would apply to the states.

a. If a clause in the BoR was deemed fundamental, then it had to be incorporated against the states in every aspect.  Virtually everything in the BoR would have to be fundamental.

7. Selective incorporation:

a. Not Included = 2nd, 3rd, 5th right to grand jury, 7th right to jury in civil trials.
8. Incorporation has brought the BoR into the forefront of Constitutional issues and had a major impact on criminal procedure, free speech, religion, etc.
3) The 15th Amendment:

a. Cannot be denied the right to vote on the basis of race.

American Imperialism

1) American Expansionism, Race, Ethnicity, and the Constitution:

a. Around the time of the Spanish-American War and the turn of the century, the US acquired territories abroad and in North America.

i. US gets from Spain, Cuba, PR Philippines, and Guam.  US also acquires Hawaii around this time.

b. Back to Dred Scott:

i. Taney declares that the US can’t acquire territories without the purpose of making them states.

ii. How these territories fit into the Constitutional structure is up in the air.

c. Insular Cases:

i. Downes v. Bidwell: still good law today (J. White’s concurrence is seen as the opinion)
1. Facts: P paid duties for the importation of organs from San Juan, PR to New York.  The duties were required by the Foraker Act.  Downs argued that PR became part of the US after the ratification of the traty with Spain that ended the Spanish-American War and the duties violated Art. I, § 8, cl. 1 of the Constitution.
2. Rule of Law: Congress retains the discretion to extend certain Constitutional (artificial rights as opposed to natural rights) to the US Territories.
3. Textualist approach – the Constitutional applies to people of the states, but there is discretion to apply it to those jurisdictions of the US (didn’t extend to CA, Utah; extended to DC).  The Constitution describes a difference between what Congress can never do in any circumstance “throughout the US.”

4. Therefore, there are certain fundamental rights that apply to the territories (under US jx) and other artificial rights which don’t apply.
5. At the end of the day, there is a difference between territories and Congress can discriminatorily confer rights through the Constitution on one and not the other.  There is wiggle room for which rights must apply and which do not (artificial and necessary difference is not clear).

6. J. White Concurring:

a. Incorporated territories = those which are expected to be part of the US.

b. Unincorporated territories = not necessarily expected to be part of the US.

7. Dissent:

a. There is not two types of territories.  Only one “under US jx.”

b. Congress should have thought about the Constitutional consequences before acquiring these territories.

ii. Notes:

1. Insular cases = acquisition of territory doesn’t mean it is permanently part of the US.
2. The Union just said in the Civil War that states cannot leave the “perpetual” Union, so it seems proper that territories are free to eventually leave US jx.

3. What is incorporated?  Depends on how Congress acts wrt that territory.

4. Application:

a. What if PR wanted to become a state?  Could the US release PR.
Substantive Due Process – Protection of Economic Rights

1) Background: pressures for intervention and the rise of substantive due process, 1874-1890:
a. During this time there was mad economic expansion and big businesses were crying for legislatures to say out of business.  Initially, the courts upheld complete economic freedom, however, it soon began to erode.

b. Munn v. Illinois: 1877

i. Private property may be regulated with it is “affected with a public interest” and that property becomes “clothed with a public interest when used in a manner to make it of public consequence, and affects the community at large.”

c. Santa Clara County v. Southern Pacific Railroad and Minnesota Rate Cases further eroded the shield of economic liberty in exchange for protecting the public interest at large.

2) Police Power of Jurisprudence, 1890-1934:
a. Lockner Era ( seen as a misguided and a great mistake of Constitutional law.  Conservatives hate this case because it interrupts with states rights and liberals hate it because it blindly precludes regulation and economic/social adjustment.

i. After the Civil War, the idea of freely selling your labor seemed like a good idea.  However, it was blind to reality.

ii. Majority was forcing its view of economic theory.

b. During this period, the US SC struck down many statutes attempting to regulate economic activity.
c. Lochner v. New York:

i. Facts: the NY Leg passed a bill which required bakery employees to work less than 60hours/week and no more than 10 hours in a single day.  D was convicted of employing a baker in excess of 60hours/week.
ii. Rule of Law: to be a fair, reasonable, and appropriate use of a state’s police power, an act must have a direct relation, as a means to an end, to an appropriate and legitimate state objective.
iii. Substantive Due Process of the 14th and liberty of contract are essential freedoms recognized by the Reconstruction Amendments.
iv. Not a police power because the regulation does not promote health and is unreasonable.  Distinguishes between regulating hours of miners because mining is different.

v. Slippery slope; if the Leg can regulate bakers, then it can regulate doctors, lawyers, etc.  There are some things the state just can’t do wrt police power.

vi. J. Harlan Dissent:

1. Laws should be presumed constitutional and only when there is no relation to the goal should they be struck down. The means are related to the goal in this case.

vii. J. Homes Dissent: a pragmatist

1. Majority relies on economic theory to come to its conclusion.  This is dumb because the point of the Constitution is to protect people.

d. Notes:

i. How can the government tell you how much to work.  Working too much is harmful and the government is going to protect us from ourselves.

ii. Today, the work environment is a little different and we don’t have to worry as much about employers overreaching and forcing employees to work too much.

e. The transformation and federalization of general constitutional law:

i. Lochner expanded the scope of “general constitutional law” by having it apply to states.  This case signals a restricted view of the police power and expansion of individual autonomy.

f. The Meanings of liberty, property, and process:

i. Liberty = economic liberty or something else?  Property = private property, or just land?

g. The Scope of the Police Power: permissible and impermissible objectives
i. Muller v. Oregon: 1908
1. Facts: maximum hours law for women in factories and laundries.
2. When the regulation is largely for the benefit of all, then it is permissible.

3. Because women are weak, not strong, and not as smart, they need to be protected by the law.  Their status is such that requires the law to look out for them and this policy benefits everybody.

4. This decision is tainted with Social Darwinism.

5. However, men and women continued to vote for it, even after women’s suffrage.

h. Economic arguments:

i. Government regulations could be argued as adjusting for imperfect markets and helping the free market system envision by Adam Smith.
3) Congressional Regulation of Interstate Commerce and the National Economy:

a. Distinguishing Tests under the Commerce Clause:
i. Sherman Anti-Trust Act: prohibits monopolies.  Evidence of Congress regulating commerce.  However in 1895, Congress distinguished between manufacturing and commerce monopolies.
ii. United States v. DeWitt: regulating the sale of highly combustible illuminating oils.  Within state limits, it can have no constitutional operation.  It is a regulation of police.
iii. During these times, two questions were asked: whether the particular subject of congressional regulation is “interstate” and not local, and are the purposes of the regulation consistent with the Constitution?

b. Champion v. Ames: The Lottery Case: still good law today
i. Facts: an 1895 congressional act prohibited sending lottery tickets through the mails, or from one state to another by any means.  D was charged with conspiracy to transport lottery tickets from TX to CA by shipping them via railroad.
ii. Rule of Law: as a means of executing the power to regulate interstate commerce, Congress may make it a criminal offense to cause lottery tickets to be carried from one state to another.

1. Congress has the right to regulate interstate commerce if the means of transportation across state lines is used to carry out some immoral thing.

iii. What is commerce?  The carrying from one state to another by independent carriers of thing which have value = commerce.  Therefore, it doesn’t matter if the lottery tickers were in a box or not.
iv. Power to regulate = power to prohibit, not to ban outright.

v. Doesn’t violate the 10th Amendment (police power reservation) because the law only affects interstate workings of lotteries, not within a state.

vi. The purpose of the regulation is also consistent with the Constitution.  It is to stop the “widespread pestilence of lotteries.” [But lotteries raise state revenues and are legal in many states at this time.]

vii. J. Fuller Dissenting: State’s Rights!

1. Congress doesn’t have a general police power through the commerce clause.
2. If Congress can regulate this, it can regulate anything.  There is a difference between the actual immorality or evil of the commodity itself.

c. Notes:

i. A lottery ticket is like a contract.  What is the difference between transporting an insurance contract and a lottery ticket?

ii. What about prohibiting the transportation of diseased animals?  Is it because they are directly harmful in their transportation?  For J. Fuller, it is a question of directness.
iii. This case justifies the Mann Act.

d. Hammer v. Dagenhart: cutting back on the broader scope of regulation in the Lottery case
i. Facts: a congressional act prohibited the shipment in interstate commerce of the product of any mine or quarry in which children under the age of 16 worked for more than 8 hours/day, or more than 6 days/week, or before 6am or after 7pm.  Children had been discharged on the day the Act was enacted because of the prohibition.  Father brought suit on behalf of children for their right to work more than the regulation allowed (great father!)
ii. Rule of Law: the making of goods and the mining of coal are not commerce, nor does the fact that these things are to be afterwards shipped or used in interstate commerce make their production a part of such commerce.
1. Manufacture vs. Commerce.

iii. The act seems consistent with recent case law (including Lottery case and upholding the Mann Act); the use of interstate transportation was necessary to accomplish harmful results.  In this case, however, the harm has already been done before the transportation.
iv. Transporting mine and quarry products is not harmful.  The act targets child labor, which is an intrastate and police power issue.  The Commerce Clause is not a general police power.

v. Violates the Constitution because the power is not in the Commerce Clause and it infringes upon the state’s police powers.

vi. J. Holmes Dissent:

1. Indirect affects on interstate commerce fall under the regulation power of the Commerce Clause.

2. The transportation still allows the evil to occur in the manufacturing phase.

e. Notes:

i. Coordination Problems – Prisoner’s Dilemma:
1. The Dissent in Hammer raises a great point.  The Federal government could solve coordination problems by regulating the issue between the several states.

2. Tension – states are little laboratories for experiments.  However, if the issue is child labor none of the states have an incentive to cooperate.

ii. Binary oppositions and congressional ability to invoke its power under the commerce clause: page 447

1. Before the New Deal, the US SC uses binary distinctions and relies on them heavily:

2. Inherently Dangerous vs. Harmless Goods:

a. The Lottery case and Hammer.  Diseased animals, mine and quarry products, a piece of lottery paper.  Not great distinctions, but helpful.  The degree of harm the commodity causes.

3. Manufacture vs. Commerce: Carter v. Carter Coal
a. Manufacture = transformation; making stuff.
b. Commerce = succeeds manufacture; sending the things; intercourse; disposes of the things made.

4. Direct vs. Indirect:
a. Not a matter of the extent of impact; but a matter of relation between the activity or condition and the effect?  Cannot be secondary, no matter how great the affect.

b. Not proximately caused or secondary.  Not magnitude.

5. In The Flow vs. Coming to a Rest:

a. Coming to a rest = stopping at the final destination point.

b. Flow = still moving.

c. E.g. – Swift v. US, where livestock were held not as a final destination, but as a “throat through which the current flows.”  Thus Congress could regulation the price of the livestock held.

iii. Taxing power: Congress tries to get around the Commerce Clause
1. Congress enacts the Child Labor Tax Law of 1919.
2. Bailey v. Drexel (Child Labor Tax case) struck it down.  Tax must have primary motive of obtaining revenue with incidental motive of discouraging certain activities.

3. Can’t use federal tax as a pretext (put forward to conceal the true purpose) to regulating child labor.

iv. Spending power:

1. Internal improvement for non-necessary things was a divided issue.

2. Application is disaster relief.  President Cleveland argued relief weakened the people by relying on the government.

f. United States v. Butler:

i. Facts: Congress enacted the Agricultural Adjustment Act of 1933, which authorized spending of federal funds in return for agreements by farmers to reduce their output, in order to raise prices.
ii. Rule of Law: the regulation, in the form of tax or otherwise, must have the main purpose of raising revenue and not to rid a certain evil or regulate a certain industry.  As a corollary matter, these regulatory purposes are permissible; however, they cannot be the thrust (main purpose) of their purpose.  Not good law today.
1. Spending power = Congress can spend on whatever it wants (Hamilton); it is a free standing power.  Still good law today.
iii. Constitutional means to an unconstitutional end = no good.  Controlling agricultural production is a state power (pre-1937) and violates the 10th.  Therefore the subsidies (regulation) of interstate commerce are unconstitutional.
iv. J. Stone Dissenting:

1. US SC must use restraint and not analyze the Leg’s wisdom of the law.
Progressive Era Amendments

1) The 16th Amendment:

a. Overrules US SC decision, Pollock, against income tax.

b. Congress can tax income, however, the difference between direct and indirect taxes is not clear.

2) The 17th Amendment:

a. Direct election of Senators; not state legislatures.

b. Senators are not held accountable directly to the people.

3) The 18th Amendment:

a. Prohibition

4) The 19th Amendment:

a. Guarantees women the right to vote.  States gave women the right to vote, but now it is the national standard.

b. Passed partly as a war measure.

c. Impact on economic legislation; don’t need to protect women because now they are considered equal.  Adkins v. Children’s Hospital (minimum wage law for women stuck down) and Muller v. Oregon.

Outline of pre-Modern Era Development
1) Good Law Today Precedents:
a. Judicial Review:

i. Marbury v. Madison – can review state criminal proceedings

b. Implied Powers:

i. McColloch v. Maryland – states cannot tax the federal government.  Federal government can use means to necessary and proper ends.

c. Contacts Clause:

i. Fletcher v. Peck, Dartmouth College – can’t rescind a contract lawfully made.

d. Indian Law:

i. Internal sovereignty.  States cannot enforce law on their lands.

e. Insular Cases:

i. Two types of territories; incorporated and unincorporated.

f. Commerce Clause:

i. Gibbons v. Ogden – only regulate interstate commerce and not intrastate commerce.

ii. Lottery case – can regulate transportation of lottery tickets.

g. Dormant Commerce Clause:

i. States are free to regulate interstate commerce.  However, some regulations affect interstate commerce so much that they will be struck down even in the absence of a federal regulation on point.

h. Spending Power

i. United States v. Butler – Congress is free to spend as it pleases.  Free standing power.

i. Privileges and Immunities Clause:

i. Slaughterhouse Cases – 14th Amendment P & I protects only those rights fundamental at the time of the adoption of the amendment (right to travel, property, etc.)

2) What is in Flux?

a. Scope of Economic Regulation and Liberty.  How much economic liberty does the 5th and 14th protect?

b. Federalism.  Where does the federal government’s power end and state powers begin?

Economic Regulation in the Modern Era (New Deal)

1) The Decline of Judicial Intervention Against Economic Regulation:

a. 1934:

i. Background:

1. Great Depression.  FDR’s response was to regulate and adjust the economy to lift it out of depression.  The problem is that the US SC was striking down all the new regulations.
2. FDR was upset and implemented the “court-packing” plan.  The US SC acquiesced and upheld the regulations.  By the end of the 1930’s, Constitutional Law is revolutionized.

3. Two cases (Nebbia and Minn. Mortgage) in 1934 led the way to the 1937 revolution

ii. Nebbia v. New York: substantive due process right of economic liberty
1. Facts: NY law fixing the minimum retail price of milk in order to help raise prices.
2. Rule of Law: due process demands only that the law shall not be unreasonable, arbitrary, or capricious, and that the means selected shall have a real and substantial relation to the object sought to be attained.
3. US SC says that price fixing will help the industry and society at large.  The milk industry affects the public good.
4. Nebbia takes an expansive view of the “public good” exception in Lochner, when it is permissible for a state to regulate economic freedom.

5. Dissent – doesn’t affect public good/interest.  This is a deprivation of a fundamental right.
iii. Home Building & Loan Association v. Blaisdell: the Minnesota Mortgage Moratorium Case
1. Facts: the Minn. Leg passed the Mortgage Moratorium Law, essentially giving mortgagors more time before foreclosures and execution of sales of real estate.  After D defaulted on a loan 
2. Rule of Law: the Contract Clause of the Constitution provides that no state shall pass any law impairing the obligations of contract, but, even if such obligations will be impaired, a state may exercise its power to protect the public’s health, safety, and welfare.

a. State may adjust contractual obligations as long as it does not interfere with the substantial rights of the parties.

3. The fact that there is an emergency doesn’t matter.  A state enforces contracts and it can decide which it will not enforce.  The purpose of the statute was to protect the security/welfare of people and not to impermissibly “impair” contractual obligations.
4. Altered only the form of the remedy, so it is permissible.  Not all modifications of contractual remedies impermissibly “impair” contractual obligations so as to violate the Contract Clause.
5. The problem was trying to coordinate everybody’s bets interests and not interfere with rights.

6. It doesn’t violate the Contracts Clause because the Constitution should be viewed in light of the times; which would allow for impairment of contracts to protect the welfare only if it doesn’t interfere with substantial rights of the parties.
7. J. Sutherland Dissent: part of the ultra-conservative “Four Horsemen”
a. The Contact Clause was designed to protect private contracts during emergency times.  Therefore, emergency times can’t be used to destroy this protection.

b. 1935-1937:
i. Morehead, citing authority of Adkins, invalidated a NY minimum wage law for women.  The state is without power to change or nullify contracts between employers and adult women workers.

ii. “Court Packing” plan influenced the US SC to reverse Adkins in West Coast Hotel.  How did this happen?  J. Roberts caved into the threat and changed his vote (“The switch in time that saved nine.”)
1. Was the US SC right in making such a dynamic change?  There is an argument for popular constitutional amendment by the election of FDR.

iii. West Coast Hotel Co. v. Parrish: this is about a state’s ability to regulate economic freedom.  The Due Process clause is on point.
1. Facts: minimum wage law for women.  P argues that she is entitled to the minimum wage, not the lower amount her employer was paying.  US SC upheld the minimum wage statute.
2. Rule of Law: a state minimum wage law for women does not violate the 14th Amendment’s due process guaranties.
3. Explicitly overrules Adkins and Morehead.

4. No freedom to contract written directly into the Constitution.  Therefore, the statute must only comport with due process requirements and be in the interests of the community or society.

5. US SC recognizes that there is unequal bargaining power between contracting parties.

c. The Modern Doctrine of Economic Due Process:

i. United States v. Carolene Products Co.:

1. Facts: Congress passed the “Filled Milk Act,” which prohibited the shipment in interstate commerce of skimmed milk compounded with any fat or oil other than milk fat.  D was indicted for shipping “Milnut” which compounded coconut oil with skimmed milk.
2. Rule of Law: in cases challenging the constitutionality of legislation affecting ordinary commercial transaction, the US SC will apply the rational basis test, which means that the person challenging the legislation has the burden of showing that a rational basis does not exist.
3. First question; is this interstate commerce?  Yes.
4. Second question; does this act violate due process?  NO, for two reasons;

a. (1) If there is some evidence that the act prevents harm, then this satisfies due process.  It doesn’t matter that there are other evils out there unregulated.

b. (2) Even if Congress has no evidence that there is no harm the regulation is preventing, the court will assume that the regulation is for the protection of society, unless shown otherwise.

i. Rational Basis Test ( must be a relationship.  Very low bar.
ii. Burden shifting to the defendant.

5. Lochner era is over and states can regulate anything they want.
ii. Notes:

1. This decision opens the door for huge influence from interests groups lobbying congress for legislation.

2. Footnote 4:
a. What is to stop state Legs from doing whatever they want?

b. For economic legislation, anything goes.
c. But when the regulation has a harmful effect on a minority class or a religion, then the court is going to apply a higher standard or review.

3. Between 1937 and 1941: US SC upheld various economic regulations through state legislation.
iii. Williamson v. Lee Optical Co.: still good law today
1. Facts: Oklahoma passed a law with provisions that: 1) prohibited opticians from fitting lenses without a prescription from an ophthalmologist, 2) prohibited sellers of ready-to-wear glasses, 3) prohibited the sale of frames and mountings, and 4) prohibited leasing building space to one engaged in eye examinations without a proper license.  Suit was brought to declare the law invalid and unconstitutional.
2. Rule of Law: a regulation enacted by a state is not beyond constitutional bounds unless it has no rational relation to a legitimate objective of the state.
3. Previously, the court would have easily said this was an improper interference with economic liberties.

4. The regulation passes the Rational Basis Test if:

a. The court can come up with a reason that the Leg passed regulation for the benefit of society.

b. No evidence required.

5. “Minimum Rationality” ( as long as there is a relationship.  Don’t second guess the wisdom of legislatures

Federalism in the Modern Era
1) The Commerce Power:
a. Generally; there is a difference between state economic regulation, which must comport with due process (rational basis test to measure if the regulation corrects a harm to society), and congressional economic (commerce) regulation which must have a rational basis test affect on interstate commerce.

i. Judicial relaxation of substantive due process economic rights = state

ii. Judicial relaxation on the exercise of congressional powers = federal (Congress)

b. At first, the US SC treated state economic regulation (due process) differently (low bar) than federal regulation.  The same deferential treatment of federal economic, however, was soon thereafter matched.

c. NLRB v. Jones & Laughlin Steel Corp.: the watershed case for congressional regulation
i. Facts: National Labor Relations Act of 1935 prohibited employees from interfering with labor practices in an unfair way if it affects commerce.  D was charged with interfering with the rights of employees to organize and bargain collectively in its steel plant.
ii. Rule of Law: if there is a close and substantial relation to interstate commerce and that control is essential to prevent burdens and obstructions, then Congress cannot be denied to the power to exercise control over the activities.
iii. The question is not manufacture or commerce, flow or come to a rest; rather the degree of impact on commerce.  Rejected the binary categorizations of commerce.
1. National impact vs. local impact (this is rejected in Darby).  The level of impact will determine if it Constitutional.

iv. D’s activities are far-flung and thus have a national impact on commerce, therefore, the law applied to activities with national impact is valid.

d. United States v. Darby:

i. Facts: Fair Labor Standards Act of 1938 set minimum wage and maximum hours for employees engaged in production relation to interstate commerce.  D, a lumber manufacturer, was indicted for violating the Act.
ii. Rule of Law: Congress has the power to regulate the hours and wages of workers who are engaged in the production of goods destined for interstate commerce and can prohibit the shipment in interstate commerce of goods manufactured in violation of the wage and hour provisions.
1. If it affects interstate commerce, Congress can regulate it.

iii. Hammer and the distinction between manufacture vs. commerce is overruled.

iv. The threshold test for what a state can regulate within its boundaries is the same for Congress.

v. Doesn’t violate the 10th Amendment because the power to regulate commerce is given to Congress by the Constitution.

e. Wickard v. Filburn:

i. Facts: Agricultural Adjustment Act of 1938 regulated the max amount of wheat production for a size of land.  D was penalized for producing too much wheat.  The extra wheat, however, was used solely on his farm and the rest, within the regulated amount, was sold on the market.
ii. Rule of Law: Congress can regulate the production of wheat, even homegrown and sold, because it affects the interstate market as a whole and affects the intended purpose of the regulation, to control prices.
iii. If every farmer did this, then this would have a massive negative impact on the intended regulation.  Therefore, it is permissible to aggregate individual’s impact to determine if it would affect interstate commerce.
iv. Measure impact in the aggregate; even if purely local activity.

f. Notes:

i. Congress is using the Commerce Clause to regulate prices and solve a coordination problem.  It is better for businesses to have Congress step in and set a bottom price instead of the industry undercutting each other until profits equal zero (fundamental economic theory).

g. Note: the 1960’s Civil Rights Legislation: Commerce Power or Reconstruction Power?

i. Civil Rights Act of 1964 ( bans private discrimination in places of public accommodations.  Intended to apply to businesses.

ii. Constitutional authority is rooted in the Commerce Clause and not the 14th because a previous case said that Congress cannot prohibit private discrimination.

iii. Disagreement in where the Civil Rights Act should be rooted; some say it is not a commerce, but morality issue.

iv. Why use the Commerce Clause?  Because it is an easy door for Congress to get through.

h. Heart of Atlanta Motel v. United States: testing the Civil Rights Act of 1964
i. Facts: hotel with 216 rooms, accessible to interstate highways, advertised in various media, and served out of state travelers.  This hotel fell within the Civil Rights Act and it challenged the Constitutionality of the Act.
ii. Rule of Law: discrimination in the aggregate affects interstate commerce and Congress is not restricted by the fact that the regulation was dealing with was also deemed a moral and social wrong.
iii. Purpose of the Act (moral) doesn’t matter if there is an interstate commercial affect.  The act corrected economic conditions to be more efficient and productive.

i. Katzenbach v. McClung:

i. Facts: Ollie’s BBQ, 220 seating capacity, close to an interstate, $150K worth of food supplied by an out of state supplier.
ii. Rule of Law: a Rational Basis Test for finding a chosen regulatory scheme necessary to the protection of commerce is the only inquiry.

iii.  The discrimination imposed an artificial restriction on the market and interfered with the flow of merchandise.  Analyze in the aggregate.
j. Daniel v. Paul:

i. Facts: a 232 acre recreation area with a snack bar and various facilities for travelers and vacationers.

ii. Rule of Law: discrimination in a local snack bar, in the aggregate, has interstate commerce impact and is thus subject to Congressional regulation pursuant the Commerce Clause.

iii. The food served at the snack bar had traveled from out of state vendors in addition to serving guests from out of the state (traveling to the recreation area).

iv. J. Black Dissenting:

1. This decision stretches the Commerce Clause so far as to give the federal government complete control over everything.

k. Perez v. United States:
i. Facts: petitioner lent money to M and demanded larger payments and threatened him and his family.  D was charged under the Federal Consumer Credit Protection Act.
ii. Rule of Law: where a person is clearly a member of the class where the class of activities are regulated by Congress, then liable to the regulation.

iii. The Act was designed to protect against organized crime, which is interstate and international in character.  Even though the petitioner’s activities are local, they have an affect interstate commerce.  US SC didn’t care that there was no evidence to support the theoretical relationship.

iv. J. Douglas Dissenting:

1. Framers didn’t envision that local activities would be subject to federal criminal statutes.

l. Generally; for a long time, the New Deal programs are working well, the Great Society is doing its job, and the Civil Rights Act survives.  Everybody believes that the Commerce Clause really has no limit because the economy is so interconnected.

i. However, in 1994, the GOP take over Congress with a Contract with American to return power to the states.  Lopez happens right after this massive political shift.

ii. Federalism Revolution: Lopez and Morrison
m. United States v. Lopez:

i. Facts: Congress passed the federal Gun-free School Zones Act, which forbid any individual knowingly to possess a firearm at a place that he knows is a school zone.  D, a 12th grade student was charged with violated the statute when he carried a concealed handgun into his high school.
ii. Rule of Law: the 1990 federal Gun-free School Zones Act exceeded Congress’ Commerce Clause regulatory powers.
iii. Congress can regulate three categories of commerce:
1. (1) the use of channels of interstate commerce.

2. (2) protect and regulate the instrumentalities of interstate commerce.

3. (3) those activities having a substantial relation to interstate commerce that substantially affect interstate commerce.

iv. The Act in question is not (1) or (2), so it can only be (3).

v. The courts assume that Congress found a relationship between the regulation and interstate commerce, but it must still be “substantial.”  There is nothing the legislative findings suggesting a substantial affect on interstate commerce.

vi. Without a “substantial” affect, then Congress can regulate anything because everything has a “commercial” side to it.  Congress does not have a General Police Power.

vii. J. Kennedy and O’Connor Concurring:

1. Too many inferences to get to the Commerce Clause power.
2. Says that precedent gives people predictability and is good.  Therefore, doesn’t want to go too far in the opposite direction, but only to define where the upper limit of commercial inference lies.

viii. J. Thomas Concurring: text and history
1. Sticks to the original meaning of the Constitution.  Commerce = trade, selling, buying, and borrowing.

2. Modern view of the Commerce Clause is wrong.

3. Constitution says nothing about substantially affecting commerce.

ix. J. Stevens Dissenting:

1. Pragmatic approach; violence impedes education, welfare, and commerce.

2. Guns are articles of commerce themselves, so regulating the use of them is permissible.

x. J. Souter Dissenting: precedence
1. Court is taking a step back to pre-1937 by using arbitrary distinctions like “substantial.”

xi. J Breyer Dissenting: prudential
1. Congress can regulate if it has significant affect; significant affect = aggregate; the affect does not have to be direct, but have a “rational basis” of connection.

2. Education is important to the national economy and violence affects education.

n. Notes:

i. Basically, the US SC is telling Congress to take federalism seriously.

ii. Perhaps a better way to define interstate commerce is to use the concept of “interstate spillover” effects.

iii. The state of the Commerce Clause is in flux after Lopez.  Is the Civil Rights Act in jeopardy?

o. United States v. Morrison: Commerce Clause 

i. Facts: statute (Violence Against Women Act) provides a federal civil remedy for the victims of gender-motivated violence.  Brzonkala was raped by Morrison and Crawford.  She suffered severe emotional damage as a result.  Virginia Tech set aside the punishment for Morrison because it was excessive for “using abusive language” (the charge against Morrison).

ii. Rule of Law: the VAWA exceeds Congress’ power and authority pursuant the Commerce Clause because it is not an economic regulation by its nature and not liked to interstate commerce.

iii. Morrison helps define what Lopez was all about:
1. For the “substantially affects” test, there is a distinction between economic and non-economic acitivites.
2. Economic activities ( aggregate and use rational basis test.

3. Non-economic activities ( don’t aggregate and no rational basis test.  US SC will look to actual data to find a commerce connection.

4. Respect federalism.

iv. Violence against women is non-economic; don’t aggregate.  Violence against women affects commerce, but it is too distant.  The commercial connection is not strong enough.  Therefore, the VAWA is struck down.

v. Argues that the Constitution recognizes a difference between what is national and local.

vi. J. Souter Dissenting:

1. The test for “substantially affects” is well established.  If something substantially affects interstate commerce, in its aggregate (whether economic or not), then the court only needs a rational basis.

2. The majority is creating a new subset test for “substantially affects,” involving a factual inquiry into non-economic activites.

3. The categorical formalism is what the court got away from in 1937 and the majority is returning to it.

vii. J. Breyer Dissenting:

1. Do the activities, in the aggregate, affect commerce?  If yes, then Congress can regulate.  Therefore, because every activity affects commerce, Congress can regulate anything.
p. Notes:

i. Discussion = there are problems trying to define what is an economic activity.

ii. If the majority wants to protect federalism, then why did so many states request the federal statute (VAWA)?

iii. Drawing the line.

q. Federalism Revolution is gaining momentum, but them Gonzales comes along…

r. Gonzales v. Raich:

i. Facts: CA’s Compassionate Use Act allowed people to use medicinal marijuana.  However, marijuana is a type of drug prohibited by Congress under the Controlled Substances Act (CSA).  Raich has serious medical conditions and grows marijuana for personal use.  Raich argues Congress lacks the authority to regulate these intrastate activities (growing for personal use) under the CSA.
ii. Rule of Law: Congress may ban the use of marijuana even where sates approve its use and cultivation for personal medicinal purposes.
iii. The only question is whether Congress could find a rational basis that the activities taken in their aggregate could substantially affect interstate commerce.

1. Personal cultivation, in the aggregate, could have an effect on the national market for pot because it substitutes for the larger interstate market.  Thus the test is satisfied.

iv. Morrison and Lopez are different because they involved non-economic activities.  This present case is about the use, distribution, and cultivation of a product that has a national market.

v. Congress can regulate a person of a class when that class is determined to have an interstate commerce affect.  See Perez.

vi. J. Scalia Concurring: Necessary and Proper Clause argument
1. Even if personal cultivation is non-economic or does not have an effect on the national economy, it is necessary and proper to the execution of the other regulations.

vii. J. O’Connor Dissenting:

1. The majority tramples on federalism.  If Congress can do this, it can do anything.
2. Personal cultivation is different than other growers; not affect on the national market for pot.
viii. J. Thomas Dissenting:

1. Sticks to his guns.  Original meaning of the Commerce Clause.

2. Rejects (along with O’Connor) Scalia’s Nec. & Prop. Clause argument.  A stronger inference must be shown to root the regulation to the N & P Clause.

s. Notes:

i. Where are we at today?  Federalism revolution is dead or Lopez and Morrison were not overruled and is still good law (the distinction between economic and non-economic for “substantially affects” Commerce Clause invocation).

ii. Discussion: can Congress regulate cloning?  Reproduction?

2) The Taxing and Spending Power:

a. Sonzinsky v. United States:

i. $200 annual tax for certain (dangerous) firearms.
ii. Every tax is in some measure regulatory.  Courts will not undertake a factual inquiry into the hidden objectives of Congress as to the tax and its regulatory effects.

b. Steward Machine Company v. Davis: federal coercion is not unconstitutional
i. Facts: unemployment compensation scheme by the Social Security Act of 1935.  Basically, the federal government would tax employers, but the employers could receive a 90% deduction if they contributed to a state unemployment fund, which met the details of the Act.  It was an incentive to provide funds to the state unemployment fund and then have the federal government control these funds in a uniform fashion. The Act was the solution to a coordination problem between the states.
ii. Rule of Law: overrules Butler (the tax part).  Coercion from the federal government, through the form of a tax, is not improper coercion on the states and does not violate the 10th Amendment.

iii. Tempting a state to comply by giving it proceeds from a federal tax does not violate the 10th Amendment.  This is closely linked to the free standing power to spend through the Spending Clause.
c. Notes:

i.  Tax and Spending does not need to be linked to interstate problems.

ii. United States v. Kahriger – if the tax raises revenue, then it is fine.  Only when money is not needed shall the federal government not tax.

d. Spending Power:

i. Oklahoma v. United States Civil Service Commission (1947) – Congress could properly condition spending on highways; it does have power to fix the terms upon which it money allotment to states shall be distributed.

e. South Dakota v. Dole:

i. Facts: the federal government wants a uniform drinking age of 21.  But the 21st Amendment grants states control to determine their drinking age.  The federal government thus conditioned its grants for highways on the state increasing the drinking age to 21.
ii. Rule of Law: Spending Power Clause four-prong test;
1. (1) Spending must be in pursuit of the general welfare.  (Congress is given considerable deference as to what constitution the general welfare).

2. (2) If Congress makes states receipt of federal funds subject to conditions, it must do so unambiguously.

3. (3) Conditions on federal grants may be illegitimate if unrelated to the federal interest in the program.

4. (4) Spending can’t violate the other Constitutional provisions.

iii. The four-prong test is pretty easy; in this situation, (1) different drinking ages are dangerous and uniformity would promote general welfare, (2) clearly stated, (3) funding for highways and increasing road safety are related, and (4) doesn’t violate any constitutional rights.
iv. J. O’Connor Dissenting:

1. Congress can regulate anything.  What about federalism?

f. Notes:

i. Discussion – could the federal government coerce CA to move its capital?  If Alaska discovers oil and hits it rich, can it conditionally spend the federal government?  Seems possible (but all the other states would have to agree).

ii. Seems like Congress could condition something all or nothing or reduce funding by 5% if the state doesn’t comply.
iii. With the taxing and spending powers, there is a tension with federalism because the federal government seems to be extending some level of control or coercion over the states.

3) The Power to Enforce the 14th Amendment:

a. Reconstruction Power:

i. Generally:

1. Each of the Reconstruction Amendments have an Enforcement Clause at the end.  The question is then, to what extent can Congress enforce the Reconstruction Amendments?

2. Enforcement Clause, Appropriate means = necessary and proper (legitimate means to the end, McCulloch).

ii. South Carolina v. Katzenbach:

1. Facts: Congress enacted the Voting Rights Act of 1965 to eliminate voting discrimination.  States found using discrimination had to go through federal review before they could make any changes to their voting requirements.  Basically the Act singled out places where there currently was voting discrimination and said that these states were subject to federal review and that any other areas found discriminating would be subject to federal review as well.  South Carolina, challenged the Act alleging Congress didn’t have the power to prescribe state election procedures; therefore giving rise to the issue of what the Reconstruction Amendments means by “appropriate means” (aka Enforcement Clause).

2. Rule of Law: Congress may, under the 15th Amendment, prescribe appropriate voter registration and election procedures.
3. The Enforcement Clause of the 13th, 14th, and 15th are self-executing.  Therefore, Congress was to be chiefly responsible for implementing the rights created therein.  Therefore, Congress can do more than just forbid violations of the 15th.

4. The means for enforcing the rights must be appropriate.

5. Literacy tests (Lassiter) are not a per se violation of the 15th.  Only unfair tests, like the one in Katzenbach v. Morgan…
6. J. Black dissenting ( requiring clearance from the US AG violates federalism.

iii. Katzenbach v. Morgan:

1. Facts: Voting Rights Act of 1965, § 4(e) was a Congressional provision that prohibited restrictions on the right to vote because of the inability to read and write English where the person had at least a 6th grade education in a Puerto Rican school.  A New York statute required all voters to be able to read and write the English language.
2. Rule of Law: a federal statute enacted pursuant to the Enforcement Clause of the 14th Amendment supersedes any state constitutional or statutory provision which is in conflict with the federal law.
3. NY argues that the state statute should be struck down only if it violates the 14th Amendment.  Also argued that the provision in the Act of Congress violated the Equal Protection clause because of the different treatment of non-English speaking Puerto Ricans and other non-English speakers.
4. The issue is whether the Congressional Act is within the boundaries of what is appropriate by the 14th Amendment’s Enforcement Clause.

5. The Congressional Act prohibiting the literacy test is appropriate (the same test as what is Necessary and Proper, see McCulloch).  But how far can Congress go in terms of creating rights beyond what the courts determine?  It is unclear; however, Congress may “ratchet” up to some extent.  Ratchet Theory.

6. The problem that the Act was conferring a right to Puerto Ricans is not an issue because Congress is free to address one problem at a time and confer rights to some and not others (although can’t take away rights).

7. Dissenters:

a. Literacy tests are not unconstitutional per se.  Congress overstepped its boundaries by creating 14th Amendment rights, not enforcing them.

iv. The Morgan case leaves the door open for defining the extent of Congress’ power to create rights.  Could Congress overrule the US SC?  How does the power relate to states’ rights and judicial supremacy?  How much could Congress “ratchet up”?
v. Original US SC test (before RFRA) = any regulation that substantially burdens religious practice must be justified by a compelling state interest.

1. Then Smith v. Oregon comes along…

a. Smith was punished for using peyote as part of Indian religious ceremony.  Was thereafter denied unemployment benefits because he broke the law.

b. US SC rejects the compelling interest test and says that if the statute is a generally applicable neutral state law, then a person is not excused because of religious practice.

c. No longer an exception if the law applies equally to everyone.

d. Everybody is pissed and lobbies Congress to enact RFRA.  So Congress enacts it and essentially tries to overrule the US SC.
vi. City of Boerne v. Flores: STILL GOOD LAW
1. Facts: Congress enacted the Religious Freedom Restoration Act (RFRA), which prohibited the government from substantially burdening a person’s exercise of religion, even if it is against a different law, unless there is a compelling state interest.  Flores sought to expand his church building, but the City refused to grant a permit because it was a historic landmark.  Flores sued pursuant RFRA.
a. Act sought to restore the compelling interest test.

2. Rule of Law: the RFRA unconstitutionally exceeds Congress’ enforcement power under the Due Process Clause of the 14th Amendment.

3. US SC has the final word on Constitutional interpretation.

4. Congress’ power is remedial and can grant what the US SC says are the rights protected by the 14th.  However, Congress can go beyond (“ratchet” perhaps) the “core” of the rights defined by the US SC as a preventative measure.
a. What is appropriately going beyond?

b. Only what is a proportional or congruent between the means adopted and the legitimate end to be achieved.  Can’t pass an overly broad law with a lot of rights.
vii. Notes:

1. This case is the result of a battle between the US SC and Congress over the correct interpretation of the 14th Amendment.

2. Should the branch which protects more rights win?  But at the cost of federalism and state’s rights?

3. This case has Judicial Review doctrine overtones; the US SC says it has the final word on the interpretation of the Constitution.  Should the US SC be able to trump Congress’ interpretation of the 14th?

viii. United States v. Morrison: 14th Amendment

1. Facts: statute (Violence Against Women Act) provides a federal civil remedy for the victims of gender-motivated violence.  Brzonkala was raped by Morrison and Crawford.  She suffered severe emotional damage as a result.  Virginia Tech set aside the punishment for Morrison because it was excessive for “using abusive language” (the charge against Morrison).
2. Rule of Law: the 14th Amendment only applies to state activities and does not apply to private conduct.
3. US SC affirms the Civil Rights Cases that the 14th Amendment does not apply to private parties.
4. State Action Doctrine ( 14th only applies to state action, not private action.  This is a textual approach the 14th.  Purpose of the 14th was to correct state discrimination.
5. Furthermore, the remedy does not account for the difference that violence against women in some states is more problematic than in other states (one reason why the US SC in South Carolina v. Katzenbach upheld the law).  The law applied uniformly, was not targeting at specific discriminatory activities/areas, and thus was out of proportion to the problem it was trying to fix.

a. Congress could have targeted remedies to certain problematic states and this could have helped keep the law constitutional.
6. Now, if civil rights legislation does not pass the Commerce Clause test, then it doesn’t have much hope under a 14th A argument.

7. J. Breyer Dissenting:

a. 14th should not be limited to state actions only, but to include private conduct.
b. The problem was state inaction in protecting women.  It was a large problem and the law is only providing another form of relief was what the states already declared illegal conduct.

4) Congressional Regulations of State Governments:

a. The laws evaluated above deal with Congress’ attempt to regulate private conduct.  The following cases deal with Congress’ attempt to apply laws against the states themselves.

b. Federalism demands that the national government, to some extent, stay out of affairs of state governments.

c. Question: are there some “core functions” of state government that the federal government should leave alone?  Something inherent about states that make them immune from certain forms of congressional regulation?

i. The problem is that the 10th A reserves powers leftover and not taken by the federal government.  Therefore, states must claim power from government structure – federalism – when it is not a leftover power.
d. Affirmative Limits on Congressional Regulations of State Governments:

i. From the Hughes Court to the Burger Court: Practically No Limits?

1. National League of Cities v. Usery: 1974
a. Facts: Congress attempted to extend the minimum wage and max hour regulations to almost all state and municipal employees.
b. Rule of Law: overruled Maryland v. Wirtz.  Determination by states of compensating its employees is party of the “core” attributes of state sovereignty that cannot be overridden by Congress.

c. Background – Darby upheld Congress’ ability to regulate hours and wages because of the Commerce Clause.  Congress extended the hours and wages regulations to state employees engaged in commerce.  This was upheld in Maryland v. Wirtz because the regulation prevented “unfair competition.”  National overruled Wirtz because Congress was going too far by extending hours and wages regulations to all state employees.
d. The US SC reasons that states have good reasons why it should be able to choose its own compensation policy for its employees (“displaces state policies”).

e. Congress cannot operate within “areas of traditional governmental functions.”

f. Garcia overrules National.

g. J. Brennan Dissenting:

i. The federal government can regulate some state employees and not others.  But what is the difference?  Where do we draw the line?  Everything effects commerce, so Congress should be able to regulate all state employees

2. Garcia v. San Antonio Metropolitan Transit Authority: STILL GOOD LAW
a. Facts: Dept. of Labor in San Antonio declared that the federal min. wage laws were not applicable to the mass-transit system because it was a “traditional government function” and thus immune from federal regulation because of the federalism principles set forth in National.
b. Rule of Law: the test for determining state immunity from federal regulation under the commerce clause is not whether the state activity sought to be regulation is a “traditional state function,” but rather whether the regulation as applied to the state activity is destruction of state sovereignty or violative of any constitutional provision.
c. Trying to define the limits of federalism with what is “traditional” is an unworkable test.  Congress should be free to regulate without having to think about what is “traditional” or not.

d. Is Congress’ power limitless? NO

e. Political Safeguards of Federalism:

i. States do no need protection from the judiciary because they can protect themselves through the political process.
f. US SC is getting out of the business of deciding what laws affecting states and individuals violate federalism.

g. This test ONLY applies to laws impacting both states and private individuals.

h. J. Powell Dissenting:

i. The 10th means nothing if Congress can tie commerce to it.  This compromises the balance the original Framers intended.

ii. The political process will not work to protect states (small states not represented and people don’t vote, people don’t care about federalism).
i. J. O’Connor Dissenting = look to the spirit of federalism.  Predicts that the US SC will return to the rule in National.

ii. The Rehnquist Court: Finding Affirmative Limits

1. Gregory v. Ashcroft:

a. Facts: two judges took on a Missouri regulation (in the Miss. Constitution) requiring judges to retire at 70 years of age.  They said that the federal regulation of Age Discrimination and Employment Act (ADEA) prohibited the state from forcing them to retire. 
b. Rule of Law: the ADEA does not apply to the state’s appointment of its most important officials.
c. The ADEA has some exceptions stated, which include policy makers.   The US SC decides that it is not clear whether judges are included in the exceptions, so it reads the exceptions narrowly and determines that judges are not included.
d. If Congress is going to infringe on states (federalism), then it must be through a plain statement showing clear intentions.  Plain Statement Rule.  Ambiguities go to states’ favor and in this case Miss. had an interest in regulating its judicial branch.
e. Dissents: Blackmun
i. Judges are policy makers and fall under the exceptions of the ADEA.

ii. The political process is the safeguard, not the Plain Statement Rule.

f. This case is an attempt by the Garcia dissenters to cut away at Garcia.  But it ducks the constitutionality and focuses on statutory interpretation.
2. New York v. United States:

a. Facts: Low-Level Radioactive Waste Act authorizes interstate compacts for waste disposal.  Many states had not acted, so Congress passed a law stating that if a state didn’t develop its own waste dump or enter into a compact for disposal, the state takes title to the waste and is forced to deal with it.  NY did nothing and challenged the constitutionality of the law. 
b. Rule of Law: the federal government may not order a state government to enact a particular legislation.
c. Congress can clearly regulate radioactive waste.  The problem is the take title provision.
d. Garcia = regulating private and the state.  This case = the state only.

e. No Affirmative Commandeering; Congress cannot affirmatively commandeer a state and order it to do something.  Can’t coerce a state.  This violates the 10th and goes beyond the enumerated powers of Congress.
i. However, Negative Commandeering (what states can’t do), Conditional Spending (Indirect Commandeering), and Commerce Clause is permitted.

f. Counter-argument = the Constitution was an attempt to give the federal government more powers and less to the states.  Additionally, history has changed and the federal government has even more power today.

g. Dissenters:

i. NY conceded that it was influential in shaping and pressing for the law; therefore estoppel should prevent NY from objecting to the law.  However, federalism is more important than estoppel.

ii. The political process can protect the states just fine (but how will people know who is responsible, the federal government or the state?)
iii. Stevens argues that the US SC orders state judges to do certain things, so why can’t the federal government order states to do certain things.

3. Printz v. United States:

a. Facts: as an interim provision of the Brady Handgun Act, the federal government required “chief law enforcement officers” (CLEO) of each jx, to conduct background checks on prospective handgun purchasers.
b. Rule of Law: the compelled enlistment of state officers for the administration of federal programs is unconstitutional.
c. There is no text in the Constitution on point, so Scalia looks to history, text, and structure.
d. Nothing in our history suggests that Congress can order/commandeer the states to comply with the federal government (when the law didn’t turn on congressional power).

i. But why was Prigg v. Penn. not mentioned (states can’t be compelled to return fugitive slaves)

e. The structure of the Constitution ( if state officials are executing the laws, Congress is undermining the power of the President.

f. Can’t get around the requirement of New York v. US by ordering state officers to comply with the federal government.
g. Federal government can force state judges to enforce federal laws.

h. Concurring: O’Connor

i. Can just get around this by contracting with the states.

ii. What about a law which requires state officials to report missing children to a central federal database?  This seems ok.

iii. She agrees with the majority but would move the line a little bit to include obvious good laws (like missing children reporting).

iv. Look to the burden the law will have on the states.

i. Concurring: Thomas
i. 2nd A issue.  Commerce Clause issue.

j. Dissent: Stevens

i. Nothing in the text of the Constitution prohibits this law.

ii. The Federalist Papers suggest that state officials would be helpful in executing the federal government’s laws.  Otherwise this would require a huge national agency, which would be unnecessary.

k. Dissent: Souter; the Federalist Papers support the law.
l. Dissent: Breyer

i. Look to the experience of foreign (European) nations.  Many allow local officials to execute the national government’s laws.

ii. Scalia hates the idea of looking to other nations.

4. Aftermath of Printz:

a. If we take Printz seriously, then state officials don’t have to do anything.  But it is obvious that to cooperate for ministerial things is more efficient.

b. People flipped out after the Printz decision because now state officials don’t have to do anything about the federal issue of illegal immigration.

5) State “Sovereign Immunity”:

a. Background: Art. III § 2 and diversity jx.

i. Chisholm v. GA:

1. SC merchant sues state of GA for BOC.  Court upholds diversity jx between citizen of one state and another state by taking a textualist approach to the Art. III.  GA argued it was immune from money damages suits and the court didn’t buy it.

2. GA then passed a law which said it would hang anybody who tried to enforce the judgment from the case.

3. Congress reacted and passed the 11th Amendment.

ii. 11th Amendment:

1. The judicial power of the US shall not be construed to extend to any suit in law or equity, commenced or prosecuted against one of the states by citizens of another state, or by citizens or subjects of any foreign state.
iii. Interpreting the 11th Amendment:

1. The US SC has applied a broad interpretation of the 11th to not only include diversity jx, but jx based on a federal question.

2. States have immunity against money suits (as a involuntary defendant), unless the state consents to the suit.

3. This suggests that states have a high level of immunity from suit.  But this immunity is refined by congressional action in later cases (see below).

iv. General Immunity Rule: Congress cannot abrogate state sovereign immunity under Art. I power; only through the 14th, section 5.
1. Seminole Tribe: 1996
a. Congressional law passed under the Commerce Clause which required FL to negotiate with tribes to develop Indian gaming compacts.  If the state negotiated in bad faith, the tribe had a cause of action for money damages.

b. US SC overrules the law because this attempted to strip the state of sovereign immunity.

c. Congress can only strip sovereign immunity if the law is rooted in the 14th A, section 5, and passes the Boerne test.

2. Florida pre-paid:
a. State can’t be sued for money damages for patent violations.  Patent protection is an Art. I power.

3. Alden v. Maine:

a. Can’t force a state court to hear a case brought against the state itself.  States are immune from the laws they violate.

4. Criticism to States’ Immunity:
a. Makes no sense that an individual can sue a city, but not the state.

b. Supremacy Clause
c. State judges are bound by federal law

d. Sovereign immunity does not appear in the Constitution anywhere

e. States essentially become lawless islands

f. Doesn’t create a “more perfect Union”

g. Inconsistent with idea of popular sovereignty (respect people above the government)
h. Doesn’t encourage investment, good faith, and fair dealings (patent protection)

v. Exceptions to Sovereign Immunity:

1. Not Art. I, but 14th Amendment, § 5:
a. If the law is rooted in the 14th and passes the Boerne test, then the state can be sued for money damages without its consent.

2. US government can sue states

3. Citizens can sue municipalities (cities like S.F. or Sac)

4. Ex Parte Young:

a. Citizen can sue state officials for injunction relief (patent, etc.)

5. U. of Alabama v. Garrett:

a. Title I or the ADA requires employers to make reasonable accommodations to disabled employees.  Employee wants to sue state employer for violation.
b. US SC says the congressional regulation is unconstitutional because it did not pass the Boerne test (not congruent and proportional)

6. Nevada v. Hibbs:

a. Family Medical Leave Act allows employees to take unpaid leave.  If state employer violates this, then the employee can sue for money.
b. US SC upholds because it the aim of the law was to protect gender discrimination.  This passes the Boerne test.

7. Tenn. v. Lane:

a. Disabled people couldn’t get in the courthouse because it wasn’t accessible.

b. US SC upholds because the law applied only to judicial building access and there was documented evidence.  This is congruent and proportional, so it passes the Boerne test.

c. Additionally, this case affected other constitutional rights like due process.

6) The Dormant Commerce Clause: when Congress has not acted
a. Interstate Federalism and the National Economy:
i. Vertical vs. Horizontal federalism:

1. Vertical = relationship between federal and states

2. Horizontal = relationship between states

ii. Dormant Commerce Clause:

1. States may regulate interstate commerce when Congress has not acted.  Gibbons/Wilson.
2. BUT, state laws that infringe on areas that are truly “national” or admit of only one uniform system of regulation, may violate the Commerce Clause, even if Congress has not acted.  Cooley
3. BUT, Congress can permit state laws that otherwise would violate the Commerce Clause upon its blessing.  Wheeling Bridge
4. Burdensome Law: the development of a balancing test

a. Pike v. Bruce Church: balancing test refined in Hughes
i. Facially neutral laws are subject to the Pike Balancing Test.

ii. Pike Balancing Test ( if there is a local purpose, the question becomes one of degree.  Balance the local and national interest.

1. (1) even-handed discrimination with “incidental” effects on commerce?

2. (2) serves a local purpose?

3. (3) alternative means to promote the local purpose as effectively without discriminating?

iii. Example:

1. AZ – limit the number of cars on train for safety.  Burdens of leaving cars at state lines outweighs the safety interest.

2. IA – no trucks over 60’.  Too much burden on national level.

5. Facially Discriminatory Laws: the “per se invalidity” test

a. City of Philadelphia v. New Jersey:
i. Law (NJ says that other states can’t dump waste in the state) that facially discriminate against interstate commerce are subject to a virtually per se rule of invalidity.

ii. A state can only regulate upon Congress’ blessing (usually a showing of an important state interest)

b. Example: can’t restrict milk sales to only that produced in the state.

6. The Market Participation Exception:

a. When the state enters the market like an individual buyer, then it can discriminate like any other merchant or buyer.
b. If the state is a buyer or seller of goods, then discriminate away!

c. Example: CA can hire only CA residents to build a city building.

7. General Theories of Dormant Commerce Clause:  why have the DCC?
a. Free trade theory:

i. Protect free trade zone of the nation as a whole; increases overall wealth; specialize in labor, reduces transaction costs; efficiency!

b. Value-oriented theory:

i. People are US citizens first and then state citizens.

c. Process-based theory:

i. Out of state people can’t vote to change the Leg to change the law.  Therefore, the DDC looks out of out of staters.

Separation of Powers in the Modern Era
1) Looking at the different powers of the three branches.
2) The President’s Executive Privilege:

a. United States v. Nixon:

i. Facts: break in at Watergate Hotel, the Democratic party HQ, to tap phones.  The US AG names special prosecutor Cox.  People talk to Cox about Nixon and tapes.  Court tells Nixon to hand over the tapes.  Nixon does not hand the tapes over and orders the US AG to fire Cox.  AG resigns instead, replacement resigns, and finally number three guy fires Cox (Saturday Night Massacre).  Special prosecutor is now Jaworski; he files federal indictments against officers and names Nixon.  The tapes are subpoenaed and Nixon gives insufficient tapes (edited).  Special prosecutor says these are not good enough and the court orders the full tapes.  Motion to quash is denied and US SC reaches down to pick up the case.
ii. Rule of Law: neither the doctrine of SOP nor the need for confidentiality of high level communications alone can sustain an absolute, unqualified presidential privilege of immunity from judicial process under all circumstances.
iii. Executive privilege exists wrt presidential communications BUT gives way to a demonstrated, specific need for evidence in a criminal trial, absent a claim of military, diplomatic, or national security.
iv. Justiciability – President claims this is a political question (argument over evidence between higher and lower officer).  However, the delegated special prosecutor can seek evidence as he wants (purpose of his job).  Nixon can fire the special prosecutor, but this would be political suicide.

v. Executive Privilege – 

1. Executive Privilege comes from the structure of the Constitution.

2. Nixon says that the tapes contain privileged communications which are like the attorney-client privilege.

3. US SC rejects total privilege.  In a criminal case, unless there is national security involved, the evidence must be yielded.

vi. Opinion Too Broad?  The US SC could have decided the case by applying the Crime/Fraud exception to the attorney-client privilege.  However, the opinion is sweeping by watering down the privilege with a most criminal cases exception.
3) The President’s Appointment Power:

a. Aftermath of Nixon:

i. People demand more ethics in government, so Congress reacts and passes the Ethics in Government Act of 1978 and the Independent Counsel Act.
ii. AG could assign an appointing power to the Special Court and they would determine whether or not to set up an independent counsel.  The AG could fire the independent counsel for good cause only, which makes the independent counsel hard to get rid of.

iii. The problem was whether the Executive had oversight of the Independent Counsel.

iv. Art. II, sec. 2, Appointments Clause ( “President shall have the point to appoint…Congress may best the appointment of inferior officers…in the President alone.”
b. In Re Sealed Case: District Court
i. Facts: criminal investigation that former head of Office of Legal Counsel (Olson) lied when giving testimony before Congress.  The AG asked the Special Court to appoint an independent counsel to investigate these allegations of lying.  Special Court appointed Morrison as independent counsel.
ii. Rule of Law: the Ethics in Government Act, on which the independent authority is based, is unconstitutional in violation of the Appointments Clause.
iii. The issue is whether Congress can appoint an officer to the Executive branch.  The Appointments Clause allows other branches to appoint inferior officers.  So the question then is whether the independent counsel is inferior or principle officer.  If a principle, officer, then only the President can appoint. Most federal officers are inferior officers.  Congress may assign the ability to name/appoint inferior officers.
iv. (1) The independent counsel has far too much power to be an inferior officer.  She is not subordinate to anybody; power is broad; only removed in good faith.

v.  (2) Even if the IC was inferior, the Appointments Clause refers to appointments within the same branch.  Inter-branch appointments are generally precluded by SOP doctrine.

vi. (3) Not necessary to police the President’s behavior because impeachment process is available

vii. Generally – President’s power to execute the laws is interfered with.  President must have oversight over subordinates.  The IC allows for the attack on one person (could be used against political adversaries).  Allows the Special Court (Art. III judges) to get involved with an intra-branch affair and this is not the junction of the Judiciary branch.
c. Morrison v. Olson:

i. Facts: same case as above on appeal in the US SC.
ii. Rule of Law: the IC provisions of the Ethics in Government Act are not violative of the Appointments Cluase of the Constitution.  The appointment of inferior officers can be vested in a person of a different branch.  The judiciary can appoint the IC.
iii. (1) The IC is an inferior officer; removal is possible, limited duties, limited jx, limited tenure.
iv. (2) The Appointments Clause allows for some inter-branch and should not be read narrowly as confined to appointment of inferior officers within the same branch only.  The text does allows for inter-branch appointments
1. “As they think fits” = deference.

2. So there must be congruence between the appointing power and the effect/goal.

v. (3) The Art. III judges are only appointing the IC and not actually monitoring in the process.

vi. Dissent: Scalia

1. IC is inferior because inferior = subordinate.  The IC is not subordinate.  The US SC is trying to give away Executive power, a power which rests solely upon the Executive branch.  This cuts through the Constitution and SOP doctrine.
2. This decision will allow for political attacks on individuals.

d. Notes:

i. President can remove appointments without notice to Congress.  However, in the Humphrey’s Executor case, when the appointment is of quasi-judicial/legislative officers, then the President just simply unilaterally remove the officer.

ii. US SC later reinterprets this decision to say that only if the officer is not too much “executive” then limits on removal are permissible.

iii. Why did the US SC reverse In Re Sealed Cases?  Because they didn’t want to strike down what was good legislation as a response to the Nixon corruption.

e. Morrison Aftermath:

i. Janet Reno argued to allow the IC Act to expire.  Congress let it expire.

ii. Edmond v. US:

1. US SC adopts Scalia’s approach in Morrison and distinguishes inferior officers as such (not subordinate).  Other branches may appoint inferior officers according to this definition.

2. However, this case does not overrule Morrison, so the appointment must still be congruent.

iii. The problem: how do other branches, such as the judiciary, know what makes a good inferior officer?  Can a judge appoint a General of the military?

4) Presidential Privileges & Immunities and Impeachment:

a. General issue ( is the President, by his status alone, immune from prosecutions?
i. Constitution states that congressmen are immune from what they say in Congress.

ii. Constitution says nothing about other officers of the other branches.  However, the basic structure of the Constitution implies that there are immunities for judges and the President.
b. Spalding v. Vilas: judges are privileged from lawsuits for any statements made in the courtroom or in their opinions.

c. Nixon v. Fitzgerald: President could not be sued while acting as President.  No money damages for conduct arising out of his official duties as President.
i. President is absolutely immune from civil suit arising out of his official conduct, while in office and after leaving office.

d. Clinton v. Jones:
i. Facts: Jones filed a lawsuit against Clinton.  She alleges that he made sexual advances on her in Arkansas, while he was Governor.  Clinton moves to have the suit postponed (temporary immunity) until after his term in office (it would take too much time away from his duties and one person should not be able to hinder the President, who is serving the entire US).  District Court allowed discovery, however, postponed trial.  Court of Appeals allowed discovery and trial to commence.  Goes to the US SC.
ii. Rule of Law: a President can be sued in federal civil court for conduct not occurring during his Presidency if the lawsuit will not take up too much time and not cut through the votes of the US in putting the President in office.
iii. Nixon v. Fitzgerald was different because the suit arose out of the President’s conduct in his official capacity during his Presidency.  This occured before Clinton became President and arose from conduct not as his official duty.

iv. For this type of civil lawsuit, there is nothing in the Constitution which gives the President immunity.

v. US SC left open the issue whether the President could be sued in state civil court.  Also left open the issue whether the President could be tried criminally outside of an impeachment process (probably not).

e. Notes:

i. Problem ( could the President be stormed with 50 civil lawsuits?  Can one person take up all the time of the President who is responsible to millions of other people?
f. Presidential Impeachment:
i. More Clinton v. Jones:

1. Clinton went to depositions and in the process of investigating the Jones case, finds out about Monica.  Judges eventually granted Clinton SJ because there was no evidence.
2. There is another investigation going on about certain property dealings, which was expanded to include Monica.

3. Ken Starr issues Starr Report, which includes documents with impeachable information.

4. House of Rep impeaches Clinton for perjury and obstruction of justice.

5. Goes to the Senate and they have to decide what an impeachable offense is and the only direction they have is the Constitution – “treason, bribery, and high crimes and misdemeanors”

ii. What is “treason, bribery, and high crimes and misdemeanors”?

1. High = “high treason” back in Britain.  Modifies “crimes and misdemeanors.”

2. Misdemeanor = conducting yourself in a really bad manner.

3. What about a traffic violation?  A stash of pot?  Using a prostitute?  Using 20 times?  Appearing in a porno?  Subordinating his will to Tony Blair? To God?
4. Textually, impeachment requires a crime against the state.

5. Some things we don’t want the President doing because it’s dumb, but not criminal or impeachable; so we have the alternative to simply vote him out of office.

5) The President’s Veto Power:
a. Art. II ( President has the power toe veto any bill or resolution.  Therefore, the President is involved in the legislative process through this power.
b. INS v. Chadha: No “legislative veto”
i. Facts: Congress created a law in which it delegated decision-making power to the US AG for deportation cases, but reserved power to change or disapprove the AG’s decision if only one House disapproved.  Chadha applied to the AG to have his deportation suspended.  The AG did because Chadha would face “extreme hardship.”  The House of Rep, however, decided that Chadha would not face this hardship and upheld the deportation.
ii. Rule of Law: because it constitutes an exercise of legislative power and this is subject to bicameralism and presentment requirements of Art. I of the Constitution, the federal statute purporting to authorize a one-house veto of the AG’s decision to allow a particular deportable alien to remain in the US is unconstitutional.
1. Basically, both houses must sign and present to the President to pass Leg.

iii. Bicameralism & Presentment ( Congress deferred power to the AG, but retained power to review.  But the review is legislative in nature (because it altered the rights of an individual) and thus subject to bicameralism and presentment requirements.  There are explicit exceptions in the Constitution (e.g. impeachment, ratifying treaties).

iv. Severability ( Congress included a severability clause which allowed the section in question to be severed.  Congress argued that was not its intent, and the US SC disagrees because congressional intent changes as new people are added and leave.

1. US SC will sever the unconstitutional provision, unless Congress would have never passed the Act without the severed part.

v. Congress could take the AG’s power away, but it doesn’t have the time to review deportation status of tons of people.  It wants to delegate this power out and still have some oversight.  However, the oversight must be through bicameralism and presentment.

vi. Concurrence: Powell: Congress was acting in a judicial role and as a court.  This is not its power.

vii. Dissent: White

1. In the modern setting, it is necessary to delegate out certain powers because Congress can’t simply do it all.

2. The Leg Veto has been used in the past and is still used.  Pragmatic argument.
3. Congress has to fully delegate (with no oversight) or not delegate at all.

4. The Status Quo is that deportation is not proper.  Only when one House speaks up is that status quo altered.  Therefore, this is the same as simply killing a bill in one of the Houses.  Bicameralism and Presentment is not needed to kill a bill.

c. Notes:

i. Fast-track Legislation:

1. Accomplishes the same thing as the Leg Veto.

2. In practice, Congress continued to include the Leg Veto in bills.

ii. Line Item Veto Act of 1996 (LIVA):

1. The President could cut specific lines and regulate the budget process (applied only to Spending bills).  The idea was to get rid of pork.  Everybody likes their own pork, but hates the idea in general.  Simple coordination problem.

2. Congress could override the line item veto with two-thirds vote.

3. Clinton v. City of New York:

a. NY challenged LIVA as inconsistent with SOP doctrine.

b. US SC struck down LIVA because it was in effect rewriting the law rather than enforcing it.  A bill is passed in its whole and each section is in balance with the others, so taking one section out rewrites the bill and leaves it unbalanced.

c. The President is legislating and this is inconsistent with the Constitution and SOP.

d. The US SC will not allow Congress to upset SOP principles, despite the fact that it would solve a massive coordinate problem.

e. Dissenters – try to solve the problem functionally

i. This is the same thing as just giving the President discretion to spend.  The Hypo Statute – giving the President discretion would not be unconstitutional.

4. Alternatives to LIVA = separate bills or the Hypo Statute.
6) The President’s War Powers:

a. Emergency Power during Wartime:

i. Ex parte Milligan: STILL GOOD LAW TODAY
1. Facts: Milligan was arrested in Indiana for planning an uprising against the Union.  He was charged with treason.  There were no battles being fought in Indiana (not a theatre of war), but there were some anti-war sentiments there.  The Union didn’t feel they would get a fair jury there, so they tried Milligan and other defendants by military tribunal.

2. Rule of Law: a civilian charged with a crime may not be tried before a military commission where a court of law is available.  The courts must be closed and in an area of active theater of war.

3. Essentially, can civilians be tried in military commissions when civilian courts are open?  NO

4. Ordinary courts are open in Indiana and as a UC citizen, Milligan is afforded a normal criminal trial.

5. Concurrence suggests Congress can authorize military tribunals.
ii. Ex parte Quirin:

1. Facts: 8 Nazi saboteurs landed on American soil, changed out of their Nazi uniforms and put on civilian clothes.  They planned to blow up various industrial capacities.  One turned himself in and helped locate the others.  FDR orders military tribunals.  One claims he had American citizenship and never renounced it.  They sought habeas corpus review, and the military tribunals were upheld.
2. Rule of Law: military tribunals for unlawful enemy combatants, in violation of the laws of war, is constitutional.
3. US AG says he is going to execute the 8 buys no matter what the US SC says.  The US SC issues a quick decision, with a full opinion to justify it later.  US SC has jx because military tribunals are in accordance with the Articles of War.
4. Geneva Convention = combatants must wear uniform so you can distinguish.  By changing out of the uniforms, they are unlawful enemy combatants.  Congress has authorized the use of military tribunals for offenses against the laws of war.

5. However, 1 claims to be a US citizen.  For the 7 remaining guys, they are subject to military tribunals.  Their only hope is if they were in the US long enough to owe temporary allegiance, in which they would possibly be subject to treason punishment and procedure.

6. But for the 1 guy, the US SC says that because he changed out of uniform he is being charged as violating the laws of war because treason says nothing about changing out of uniform.
a. The US SC is calling the same crime by two different names and using the uniform element to put the charge in one category (violation of laws of war) over another category (treason).

b. This completely ignores the Art. III protections.

7. :Professor Larson thinks the 1 guy should be subject to treason because that is exactly what treason is for.  To protect citizens during emergency/war times.

8. Why does Milligan not apply?  Because the 8 guys were belligerent enemy combatants.  US SC said that Milligan was not an enemy belligerent.
iii. Youngstown Sheet & Tube Co. v. Sawyer:

1. Facts: after initial failed negotiations, the Steel Union announced its intention to strike.  Truman stepped in to facilitate bargaining and negotiations.  After a couple of failed attempts, the Union announced that all steel works would strike.  The led Truman to issue Executive Order, which permitted government seizure of steel mills.  Truman thought that steel production was absolutely necessary to carry on the current war in Korea. 
2. Rule of Law: the President, as leader of the Executive branch, is bound the enforce the laws within the limits of the authority expressly granted to him by the Constitution, and he cannot usurp the lawmaking power of Congress by an assertion of an unspecified aggregation of his specified powers.
3. President argues that his powers are very broad during war times.  President claims the only checks on his power during war is impeachment and re-election.
4. Black (majority, but not really…look to Jackson’s concurrence:

a. Power must come from either Congress or the Constitution.  Congress has said nothing.  The Constitution does not permit taking private property and does not allow the President to legislate.  Narrow interpretation.
5. Frankfurter:

a. There is a law on point; Labor Management Relations Act of 1947, which says nothing about the President taking private property.  In fact, it explicitly says the President can’t take private property.

b. Precedent = no precedent in support of the “supposed” presidential power

6. Douglas:

a. The fact that there is an emergency does not justify taking a Congressional power and giving it to the President; this violates SOP.

7. Jackson (seen as the majority opinion today):

a. Difficult decision because there are arguments for both sides.
b. Three possibilities for Presidential powers:

i. (1) The Max – president acts in authorization of Congress, the presumption for the president is strongest.

ii. (2) The Twilight Zone – when Congress has said nothing, the president may only act in his own independent powers.  In this twilight zone, where powers overlap, the outcome is going to depend on the facts of the case.

iii. The Lowest Ebb – when the president takes measures incompatible with what Congress has authorized, then the President’s powers are at its lowest.

c. Seizure of mills falls into the third category.
d. Jackson’s opinion is celebrated (greatest ever) because; had personal credibility on presidential powers, had bipartisan support, very well written, and better than the majority.

8. Dissent: Vinson

a. Precedent = there are historical examples where Presidents have done things which are constitutionally debatable (Lincoln, Jefferson, Washington, Monroe).
b. Pragmatic = extraordinary times; global struggle for survival as a free nation.  Truman advised Congress of his intentions and they did nothing.  Truman is trying to uphold other Constitutional authorizations by seizing the mills.

iv. Youngstown Aftermath:

1. 53 day strike and nothing really happens.  Truman didn’t apologize and still thought that the US SC was incorrect on the matter.

2. Public opinion influence the US SC on this matter.

v. Hypo:

1. Suppose there is an anthrax attack on a military base.  Soldiers need the appropriate drugs within 24 hours to stay alive.  Drug companies say they want higher prices.  In response, the President wants to seize the drug companies.

2. Can the President do this?  It would create a slippery slope argument.

3. Suppose we apply the Youngstown rule to the Emancipation Proclamation.  Congress was against the EP and the court says it won’t retroactively support a President’s unilateral grab at power.

vi. 9-11 and the War on Terror:

1. After 9-11, Bush ordered military tribunals for anyone associated terrorism – Authorization for Use of Military Force (AUMF).  Says they can be held indefinitely.  Applies only to non citizens and then expanded to citizen enemy combatants as well.
2. Hamdi was captured in Afghanistan fighting for the Taliban.  He was brought into US custody by the Northern Alliance, taken to G Bay and discovered to be a US citizen.  Held in South Carolina under military custody.  The US government argued it could hold Hamdi (and Padilla) indefinitely without access to the courts.
vii. Hamdi v. Rumsfeld:

1. Facts: captured in Afghanistan fighting for the Taliban.  He was labeled an “enemy combatant” and transferred to G Bay in 2002.  He was discovered to be a US citizen, so sent to South Carolina.  His father filed a habeas petition.  The there testimony from the Mobbs Declaration that he was captured while fighting for the Taliban.
2. Rule of Law: Due Process requires that a citizen held in the US as an enemy combatant be given a meaningful opportunity to contest the factual basis for that detention before a neutral decisionmaker.
3. US Government:
a. Argue that due process was afforded during interrogations (1970’s law that says no detention without due process – Japanese internment camp reaction).

4. The Non-Detention Act (response to Japanese Internment camps), which requires some procedural Due Process for US citizens.  Therefore, it seems like Hamdi should win, without getting to the constitutional issue.

5. But, the detention is permitted because the AUMF is on point.  Therefore, the detention is permitted, but how much due process is required?  Is there a difference between citizen and non-citizen?

6. Quirin suggests that there is no difference and people can be detained as long as the war lasts.  But the war on terror has no end in sight.  Detention is appropriate as long as there is fighting in Afghanistan.

7. US SC says that although detention is permitted, there are certain procedural rights due.
8. What are these procedural rights?

a. Matthews balancing test:

i. Weigh individual’s liberty interests and sensitive government’s interests.

b. Must have fair opportunity to rebut the facts before a neutral decisionmaker and notice of why they are being detained.  (could be a military tribunal if appropriately run)
c. Evidence – BOP on defendant.  Government gets presumption.  Hearsay is permitted.

9. Because these procedural rights were not granted, the case was vacated and remanded.  Once these rights are given, Hamdi can be detained as long as there is fighting in Afghanistan.

10. Some Math:

a. 4-2-2-1 = the votes.

b. 4 (O’Connor, Kennedy, Rehnquist, Breyer) = vacate and remand

c. 2 (Souter, Ginsberg) = reverse and go free; but join the 4 above in order to get a plurality.

d. 2 (Scalia, Stevens) = go free
e. 1 (Thomas) = affirm lower court
11. Dissent: Scalia

a. The only way to detain a citizen as an enemy combatant is to suspend the writ of habeas corpus or subject the prisoner to the criminal justice system (charge = treason).
b. Huge supporter of civil liberties.

12. Dissent: Thomas

a. The US SC lacks the knowledge to determine the level of threat the detainee poses.  Court should defer to the President as long as a good faith effort is made.  Judiciary shouldn’t get involved in these issues and areas.
13. This due process requirement only applies to prisoners detained within the court’s jx, and not those detained in other parts of the world.

14. This decision is huge because the government loses during a war.

viii. Rumsfeld v. Padilla:
1. Padilla is also a detainee who is a US citizen.  Alleged he was trying to detonate a dirty bomb for al Qaeda and arrested at Chicago airport.
2. (1) US SC doesn’t get to the merits.  The petition was filed in the wrong jx (NY instead of SC).  

3. 4 justices dissent and conclude that the detention is unconstitutional.  The dissenters argue that the government cannot detain just for interrogation.  They claim we now live in a world where people disappear because the government just picks the up.

4. (2) The case is re-filed in SC and District Court orders Padilla released, but Court of Appeals says this is the same case as Hamdi and the government can detained.

5. The US government then takes Padilla out of military custody and puts him into civilian courts with a criminal charge.  SC court allows this but says to the US government, “don’t come back or we’ll release him.”

ix. Rasul v. Bush:

1. G Bay prisoners argue that they are detained illegally.  US gov’t says no habeas petitions for them.
2. US SC says these prisoners can file habeas petitions, based on a federal statutory provision (Federal Habeas Act).  People held in US custody.  Didn’t get to the constitutionality of the case.
3. Congress reacts and passes the Detainee Treatment Act of 2005, which denies the G Bay prisoners of habeas petitions.

a. Does this apply retroactively?

x. Hamdan v. Rumsfeld:

1. Argued that the military tribunals violated the Geneva Conventions and the Uniform Code of Military Justice.

2. Therefore, the President was acting inconsistently with what Congress authorized.

3. US SC said that the President did act inconsistently with Congress.

4. Congress responded by giving the President authority to try G Bay prisoners by military tribunal.

xi. Torture Memos:

1. Congress banned torture overseas.

2. However, lawyers, in the Torture Memos, from the Executive branch argue that there is an inherent Structural power by the President to use torture to execute his authority.  They interpret the word “torture” very narrowly.
3. These memos do not even mention Youngstown, which is incompetent.

4. President backs away from these memos.

7) Limits on Federal Judicial Power:

a. Standing:

i. A plaintiff in an Art. III federal court must have standing because the Constitution limits federal jx to actual cases and controversies.

ii. The idea is that the courts will not issue advisory opinions, but that somebody must first be wronged or injured.

iii. Three Requirements for Constitutional standing:

1. Personal injury in fact which is concrete, palpable, and imminent.

2. Injury is fairly traceable to the challenged action.

3. Injury is likely to be redressed by the remedy requested.

iv. Prudential Standing:

1. Cases the court could hear, but choose not to.  Example; the father who said her daughter was harmed by the words “under God” in the Pledge of Allegiance.  US SC threw it out because it is unclear whether he has custody of the daughter.

v. Rational:  why have Standing requirement?

1. To ensure concrete facts, vigorous advocacy (there is something actually at stake), promote judicial restraint (courts should stick their noses into issues), limit the docket, restrain meddlers.
b. Rightness: timing ( too early
i. The Court must make a determination that the bill has not yet been manifested.  Too early to adjudicate the issue

ii. Can’t sue to challenge a bill that is not yet a law.

c. Mootness: timing ( too late
i. At one time there was a real controversy.  But now there is nothing to dispute; no longer a “controversy” because no judicial remedy is now available.

d. Political Questions:

i. Like in Marbury, Marshall suggested that there are certain types of constitutional disputes the US SC shouldn’t resolve.  Not that the US SC doesn’t have an opinion on the matter, but that the issue should be left up to the other branches.

ii. Baker v. Carr ( there are some cases the courts should not decide because of political reasons.

1. Three sets of areas that are political questions:

a. Jurisdictional = Constitution vests the power in another branch of government.

b. When there are no “judicially manageable” standards or “legal” test to decide the issue at hand.

c. A decision would signal lack of respect for another branch.  The decision has been made by another branch 
e. Jurisdiction Stripping:
i. US SC has original jx and appellate jx.  The US SC’s appellate jx is subject to control by Congress.
ii. Can Congress remove certain issues form federal courts entirely?

1. Congress did this by removing habeas petitions from access by G Bay prisoners.

iii. Two Views:

1. Yes = nothing in the Constitution prohibits Congress from doing this.

2. No = at least for federal question cases (“the judicial power of the US shall be vested in the federal judiciary”).  Not necessary for diversity jx.

Procedural Due Process
1) What Procedural Safeguards Are Due?:

a. Procedural Due Process is different from substantive (Lochner, Dred Scott, Griswold).  14th and 5th Amendments.

b. The issue is whether the government has given the due process required before taking away rights or property.

c. Procedural Due Process: Framework for Analysis

i. Does the P have a property or liberty interest protected by due process?
ii. Was the liberty or property interest deprived?  (Yes or no)

iii. If there was a liberty or property interest, what process does the Constitution require in order to protect that interest?

1. The level of process protection is going to depend on the type of liberty or property.
d. Goldberg v. Kelly:

i. Facts: NY’s public assistance program had a policy of terminating welfare payments prior to the holding of a hearing.  There was a post-termination hearing available.
ii. Rule of Law: NY’s public assistance is required to provide a pre-termination hearing before terminating welfare benefits.
iii. Issue ( does the policy violate the Due Process clause?  In other words, is the post-termination hearing sufficient process to protect the taking of the welfare interest?

iv. The case turns on the fact that denying welfare will severely harm those on welfare.  A Balancing Test concludes that the individual’s interest far outweighs government interest in the process provided.  Therefore, access to welfare is indispensable and subject to Due Process protection.

v. What is required?
1. Pre-termination hearing.  Adequate notice, confront witnesses, opportunity to defend and present evidence, and a neutral decision maker.

vi. Dissent: Black

1. Welfare is not a right.  Should defer to the government because how else is it going to get its money back?  Decision purports to help the poor, but will only provide less welfare.  These kinds of decisions should be left to the Leg.

e. Counter-arguments:

i. States do not have to offer welfare in the first place.  The government could structure it to require renewal every 3 months.
ii. But one the government establishes a right to an entitlement, then due process attaches.

iii. However, you have to take the bitter (no DP) with the sweet (the entitlement).  But current law rejects this.  Once the benefit (entitlement) is created, then PDP is required.
f. Disability benefits = don’t need a pre-termination hearing.  Therefore, due process applies differently to the context of the benefits.
g. Matthews v. Eldridge:

i. Court holds that disability benefits are different than welfare.
ii. Three-part Balancing Test:

1. Private interests affected

2. Risk of erroneous deprivation and probable value of additional due process

3. Government’s interests affected (including administrative costs)
Implied Fundamental Rights under the Due Process Clause
1) Antecedents of Fundamental Rights Adjudication:

a. The big question is whether these rights exist outside the constitution.  And if they do, should the Constitution protect them.
i. Should this be decided by the courts or by the Leg.  Who should determine; is it a natural right? Penumbra? Tradition? Doesn’t exist?
b. Implied Fundamental Rights: history

i. Calder v. Bull & Fletcher v. Peck = are there natural rights?  Can they be enforced by the Constitution?

ii. 9th Amendment = rights stated don’t negate rights not stated; this suggests that there are rights outside of the Constitution.

iii. Dred Scott = right to property

iv. Lochner = freedom to contract; economic liberty

c. Still Good Law Today:

i. Meyer v. Nebraska – invalidated a law which prohibiting teaching a foreign language to children before the 8th grade.  Infringes on a parent’s right to raise kids as they please.

ii. Pierce v. Society of Sisters – invalidates OR law that forces children to attend public school; can’t go to private school.  Infringes on a parent’s right to chose their children’s education.

iii. Skinner v. Oklahoma – forced sterilization of convicts.  Infringes on the right to procreate.

iv. Aptheker v. Secretary of State – right to travel abroad.

d. But if these rights are so fundamental and important, why would the Leg ever infringe on them in the first place?

2) The Birth of the Modern Era of Substantive Due Process:

a. Tradition of protecting un-enumerated rights.  There seems to be a line drawn at personal rights and economic rights.
b. Griswold v. Connecticut:

i. Facts: Griswold (executive director of Planned Parenthood in Conn.) gave information, instruction, and medical advice to married person as to the means of preventing conception.  Violation of anti-contraception law and fined $100.  Claims this violates the 14th Amendment (substantive due process right).  No modern Leg would pass this law.  It was not enforced so weak interest to repeal it and a strong interest (Catholic Church) to keep it on the books.
ii. Rule of Law: the right to marital privacy, although not explicitly stated in the Bill of Rights, is a penumbra, formed by certain other explicit guarantees.  As such, it is protected against state regulation which sweeps unnecessarily broad.
iii. Issue ( is there a constitutional right for married couples to use contraception?  Yes.

iv. US SC struck down the Conn. law prohibiting contraception.
v. Majority: Douglas:

1. Starts with he BoR and finds zones of privacy around certain Amendments.

a. 1st = right of assoc.

b. 3rd = right to be private and exclude soldiers

c. 4th = right to be free from unreasonable search/seizure

d. 5th = right not to self-incriminate

e. 9th = other rights not stated are retained by the people

2. Doesn’t list the 5th and 14th due process because he doesn’t want to invoke Lochner/Dred Scott type of thinking.  Implies that economic rights should not be included.
3. All of these Amendments speak of privacy.  So privacy is a right which emanates from them.
4. There is something special about marriage and the privacy the relationship creates.  Douglas shouldn’t be talking…he was a womanizer, adulterer, and total creeper.
5.  Douglas is arguably picking the right outcome and then developing a “textualist” approach to get to that answer.
vi. Article by Brandeis (1890)
1. The common law recognizes privacy.  The claim should be under tort.

vii. Concurrence: Goldberg (Warren and Brennan)
1. The 9th Amendment recognizes other rights not mentioned.  The rights already mentioned in the Constitution are fundamental rights, but the Framers couldn’t contemplate other rights that exist.  That is exactly why they included the 9th.
2. The 9th was a protection against the federal government originally.  However, after the 14th, there is more concern with protecting individuals against the states.

3. What are these rights not mentioned?
a. Look to traditions and collective conscious of the people.

b. But hasn’t the Leg already decided the collective conscious on this issue?

4. Not a textualist, but tradition and pragmatic approach.
viii. Concurrence: Harlan (in Poe v. Ullman)

1. Substantive Due Process guarantees certain fundamental rights that belong to all citizens of free governments.  Infringing on these rights violates basic values “implicit in the concept of ordered liberty.”  Quasi-natural law argument.
2. What are these rights?

a. Look to the American Living Tradition ( living and changing thing; not just what the Framers thought.

b. Privacy in the marriage relationship is included.

3. Relies on evolving tradition and pragmatic approach; not textualist.
ix. Concurrence: White

1. Relies on precedent (Meyer, Society of Sisters, Skinner, etc.) to suggest that there is a right to family privacy.  Marriage falls under this umbrella.

2. US SC still out of the business of economic liberty.

x. Dissent: Black

1. Offensive but constitutional statute.

2. How can the US SC inject its own values to determine which rights to protect and not to protect?  The only difference between Lochner (economic freedom) and this case is that the court thinks one right is more important than the other.
xi. Dissent: Stewart – nothing in the 1st, 3rd, 4th, or 5th prohibits the statute on its face (a real textualist approach).
c. Notes:

i. The statute in question could be struck down through common law obsoleteness and avoid the constitutional question.

ii. Hypo – could the state prohibit contraception for 2 years in order to increase the population?

d. Theories of Fundamental Rights Adjudication: a basic outline

i. Conventional Morality:

1. Look to society’s conventional morality.  However these moralities are difficult to pin down.  Also, majorities can threaten the rights of others.

2. BUT = the court should stay out, because how do they know society’s conventional morality; do they look into their crystal ball?

ii. Rights Based Theories:

1. Rights against the majority; right to be autonomous in living and that person are capable of living autonomously.  Natural Law.
2. BUT = autonomous living favors the upper-class.  Courts shouldn’t use natural law.

iii. Justifications for Government Regulation:

1. Government interests in promoting morality.

2. Family stability.
iv. Lochnering = protecting rights which seem important and pressing to society at the time.

v. Levels of Abstraction = picking the “right” outcome and then finding a method to justify it.

e. After Griswold:

i. Eisenstadt v. Barid: 1972
1. What about unmarried couples wanting to use contraception.
2. US SC said Equal Protection to extend to unmarried couples.  The right to privacy is a right of the individual to be free from unwanted government intrusion.  Especially the right whether to bear or beget a child.

ii. Griswold has now become so popular that judges cannot even begin to challenge it.  But at its core, Griswold is a classic case of “Lochnering.” (Bork was hung out to dry on this argument; because he opposed such a popular case in Griswold)
iii. Carey v. Population Services International:

1. NY law prohibited the sale of contraceptives to minors under the age of 16.
2. Even though sex at that age is illegal, the court argued that contraceptives are not the tool for the illegal conduct, but simply mitigate the effects of the illegal conduct. 
3. Policy drives this decision.  They are going to have sex anyway, so why not just allow protection.

4. Therefore, the court looks at the object and differentiates between Williamson v. Optical (rational basis), where the object was eye glasses and this case, where the object is contraceptives.  Eye glasses are not a fundamental right, but contraceptives are a fundamental right.
iv. The point is that Griswold has been re-interpreted to mean something different than its original holding.

3) The Abortion Dilemma:

a. The Decision in Roe v. Wade:

i. The case was a natural response to massive social and political change.

b. Roe v. Wade:

i. Facts: TX statute made it a crime to have an abortion, except to save the mother’s life.  Class action suit for declaratory judgment.
ii. Rule of Law: the right to privacy in the 14th Amendment’s concept of personal liberty and restrictions upon state action is broad enough to encompass a woman’s decision whether or not to terminate her pregnancy.
iii. Court struck down the law 7-2.
iv. Majority: Blackmun
1. History ( abortion law has changed over time.  At CL, abortion before the baby quickened was legal.  At the turn of the century, total abortion prohibition laws appeared.  Women at CL had more rights than women today.
2. Fetus a person? ( not a person protected by the 14th.  The unborn are not citizens according to the word “person” in the 14th; rather refers to a “live person.”  But shouldn’t the state have some say over what a person is?  Are trees people?  Could state prevent cruelty to fetuses?

3. When does life begin? ( case law says not at conception, but TX disagrees.

4. State Interests ( (1) discourage illicit sexual conduct (weak argument), (2) protect the woman’s health and safety (abortions can be dangerous at a certain stage; but safer today), (3) state interest in protecting life or potential life (serious weight).

5. Right to Privacy ( that right to privacy is so broad enough to encompass a woman’s decision to terminate her pregnancy.  This is not a “penumbra,” but a Substantive Due Process right as argued by Harlan in Poe v. Ullman. 

6. With this framework, the US SC says that privacy demands that a women can chose whether to bear a child or not.
7. But this right is not absolute given the state interests of mother’s safety/health and protecting potential life.

8. Because there is a fundamental right at hand (right to privacy and to decide whether to bear a child), Strict Scrutiny is applies and the state must have a compelling interest.  When there is a compelling interest, then the state can regulate.
9. Given the compelling interest, the US SC develops a framework.





10. Concurring: Stewart – dissented in Griswold.  Changes his mind.
11. Dissent: Rehnquist

a. This was a law protecting a physician’s right to give an abortion procedure.  Therefore, the court is trying to protect one’s right to go into an office.  The right to go into a medical office is not deeply rooted or traditional, and therefore subject to the rational basis test.
b. 14th does not protect a right to an abortion.

12. Dissent: White

a. Rights of the fetus.

b. US SC has conjured up a right to an abortion.  Leave the decision up to the Leg.

13. O’Connor’s analysis ( trimester framework is dumb because medical technology will change.  The line of viability will be pushed towards conception and the line for protecting health/safety will be pushed towards birth.  Collision course!

c. Notes:

i. Republican nominees voted 5-1 on Roe.  This means a lot for future nominations and party affiliations.  Presidents will want to make sure a judge is really on board.

ii. The opinion doesn’t deal with rape or incest.  Does the state have a compelling interest to regulate abortion when it is rape or incest?

iii. The opinion focused more on physicians’ rights and not enough on women’s rights.

d. Was Roe a Political Mistake?:

i. Ginsberg’s analysis ( abortion prohibition is discrimination against women.
e. Abortion and the Equal Protection Clause:

i. Roe appears to be too similar to Lochner, in which the US SC is inventing rights.

ii. Not enough about equality:

1. Anti-abortion seems to impose costs on women with no costs on men.

2. But some women oppose abortion.  How can they justify that?

iii. Roe could have been decided on equal protection.

f. Reva Siegel: Reasoning From the Body:

i. Restrictions on abortion offend constitutional guarantees of equal protection, not simply because of the status-based injuries they inflict on women, but also because of the status-based attitudes about women they reflect.

ii. Abortion restrictions reinforce subordinate status of women in traditional roles as raising children without compensation.

g. Decisions After Roe:

i. States had no duty to fund abortions; no “informed consent” or mandatory reporting; no spousal consent; no parent consent; no waiting periods

ii. All of these decisions are no good after Casey.

iii. Planned Parenthood v. Casey:

1. Facts: Penn. Abortion Control Act made it difficult for a woman to receive an abortion because of various requirements.
a. Information to the patient; 24 hour waiting period; spousal notification (health exception); parental consent (judicial by-pass available); record keeping and reporting requirement; provisions don’t apply if there is a medical emergency.

2. Rule of Law: a law is unconstitutional as an undue burden on a woman’s right to an abortion before fetal viability, if the law places a substantial obstacle in the path of a woman seeking to exercise her right.
a. Abortion is not a fundamental right, but a protected liberty and thus not subject to the Strict Scrutiny review, but the Undue Burden review.

3. Issue ( can a law place a substantial obstacle in the path of a women’s right to have an abortion?  NO

4. “The Switch” – Kennedy switched his vote a drafted a secret opinion with O’Connor and Souter as the majority opinion.  5-4 to uphold Roe (with major modifications).  Why the switch?  To save the GOP from itself.
5. What is a fundamental right?  ( court must apply reason and judgment to identify these rights.

6. Roe was wrong.  The Constitution does not protect a woman’s right to an abortion.  Why keep Roe?  Stare Decisis (let the decision stand).  People have relied and ordered their lives around the decision, so the court should respect it, even though they thought it was wrong.  Different from Precedent (lower courts are bound by a decision).

a. Analysis for stare decisis:

i. (1) Whether the law is intolerable, (2) The facts have changed, (3) Reliance

ii. In this case, society has structured itself in reliance of abortion availability.

b. But how does the court know which cases to overrule and which ones to keep?

i. No single test.  What is the difference between Brown v. Board and West Coast Hotel?

c. US SC is also trying to keep the people’s faith in it; maintain its legitimacy as not giving in to political pressure.
7. The Test: waters down Roe


8. So for the regulation at hand, everything is permissible except for the spousal notification provision.

9. Concurrence and Dissent: Stevens

a. Would strike down the 24 hour waiting period and informed consent provision as well.  Keep the Undue Burden test.
10. Concurrence and Dissent: Blackmun

a. Strike down all the provisions using Strict Scrutiny.  More about gender equality.

b. “I fear for the darkness…”

11. Dissent: Rehnquist (originally the majority opinion)

a. Roe should be reversed.  Not a constitutional right.

b. The regulations pass the rational basis test.

c. Criticizes the majority’s reliance on stare decisis because there is nothing special about Roe and reliance the Roe was gutted anyway.

12. Dissent: Scalia

a. Constitution says nothing about protecting right to abortion.  Tradition doesn’t recognize a right to an abortion.
b. US SC is playing politics.

c. Hates the Undue Burden test; mocks the majority and compares their opinion to Dred Scott and Lochner.
iv. Stenberg v. Carhart:

1. Facts: Neb. law that banned any “partial birth abortion” unless that procedure “is necessary to save the life of the mother.”  D&X method after 16 weeks and D&E method in which the fetus is dismembered.
2. US SC strikes down as unconstitutional (violated Casey) for two reasons.

a. (1) no health exception for the mother.
b. (2) restricted the safest and most common form of 2nd trimester abortion, so it imposed an “undue burden.”

3. Concurrence: O’Connor – just add an exception for mother’s health and its constitutional.

4. Dissent: Kennedy – the Neb Leg has identified a moral difference between the two procedures.

h. Casey is the governing law on abortion.

i. Gonzales v. Carhart: 2007 (just decided at end of this semester).

1. 2003 Federal ban on partial birth abortion.  The law is upheld.  Narrow opinion and doesn’t overrule Stenberg.  Congressional factfinding, so the US SC gives Congress deference.  

4) Sexual Orientation and Privacy:

a. Bowers v. Hardwick:

i. Facts: police officer enters a house with consent to serve arrest warrant.  Officer sees two men violating GA’s sodomy law.  The law prohibits anal or oral sex in general (no difference between hetero or homosexual partners).  Prosecutor says he is not going to prosecute.  Hardwick brings suit for declaratory judgment.
ii. Rule of Law: The Constitution does not grant a fundamental right to engage in consensual homosexual sodomy.
iii. Issue ( is there a fundamental right to engage in this type of homosexual activity?  NO.

iv. The problem was that the issue was narrowly framed to homosexual activity only.  But the law prohibited anal and oral sex between heterosexual partners also.
v. Reasoning:

1. Homosexuality is not rooted in the nation’s history and tradition.  There is a long history of laws prohibiting homosexuality.
2. This act does not fall under the development of “privacy” rights and fundamental rights cases.

3. There is a rational basis for the law, so it is upheld.

vi. Concurrence: Burger – homosexuality is against tradition and history.

vii. Concurring: White – law is constitutional, but there might be an 8th A issue.

viii. Dissent: Blackmun

1. The issue is much broader than the majority have presented.  Is there a fundamental right to engage in consensual sexual activity in the privacy of the home?  Yes.

2. There is a right to private consensual sex.  This has long been recognized.

3. The law includes both hetero and homosexual partners.

ix. Dissent: Stevens

1. The law applies to both gay and straight couples.  If the issue were framed correctly, it would be unconstitutional.

2. The law cannot be upheld because something is thought to be immoral.  Think about inter-racial marriages; people once thought that these were immoral.

b. Lawrence v. Texas: overrules Bowers explicitly
i. Facts: gay man in TX is convicted of law which prohibits “deviate sexual intercourse” between the same sexes.  The law was limited to homosexual activities only.
ii. Rule of Law: legislation that makes consensual sodomy between adults in their own dwelling criminal violates due process.
iii. Issue ( Does legislation that makes consensual sodomy between adults in their own dwelling criminal violate due process?  Yes.

iv. The Right ( Liberty (not privacy) protects the person from unwanted governmental intrusion.  Liberty is protecting an individual’s ultimate authority to choose who to have sex with.  This reflects Blackmun’s opinion in Bowers.
1. Liberty protects sexual freedom and not necessarily privacy.  Therefore, is this a fundamental right or not? (discussed more below).

v. Now that the US SC has established that consensual sex is a liberty, is the law good or no good?  Look to history/tradition, other authorities, state’s interests, and stare decisis.

vi. History/Tradition( not as clear as Bowers suggests.  The historical laws cited tend to deal with consent.  Prohibiting homosexual activity exclusively is a modern trend.
vii. Other Authorities ( MPC, states/other nations/international courts repeal sodomy laws, other cases have recognized certain rights, Bowers has been heavily criticized.

viii. State Interests ( morality; doesn’t really serve any other state interest.

1. Morality, however, is not a valid justification to uphold a law.

2. Morality will not satisfy a Rational Basis review of a law.

ix. Stare Decisis ( the US SC recently upheld Roe in Casey because of stare decisis.  So why not do the same for Bowers?
1. Because there is no reliance on Bowers and overrules would not undermine people’s faith in the US SC.

x. Holding:
1. (1) Fundamental right to consensual sexual conduct (Strict Scrutiny)

a. OR

2. (2) TX law failed Rational Basis test because it did not serve a legitimate state interest.

3. Not sure which one was the US SC’s holding.  However, it is clear that the TX law failed both standards of review.

4. Was this done intentionally in order to avoid the marriage debate?

xi. Concurrence: O’Connor

1. Unconstitutional because it fails Equal Protection; affects homosexuals more.
2. Moral disapproval is insufficient state interest for both Strict Scrutiny and Rational Basis review.

xii. Dissent: Scalia

1. What about stare decisis, which was so important in Casey?  There is tons of reliance by governments, courts, agencies, and states; each has ordered their affairs based on Bowers.
2. Don’t look to foreign authority.

3. Morality is sufficient basis for upholding a law.  Otherwise, a lot of laws will go down in flames.

4. US SC is taking part in the culture wars and bowing to the pro-gay agenda.

xiii. Dissent: Thomas

1. Dumb law; but the Constitution says nothing about general privacy or liberty.

c. Notes: Questions arising from Lawrence
i. Is there a Constitutional right to engage in…

ii. Adultery: what is spouse consents?  Health and safety grounds?  Child?
iii. Fornication (sex b/t two unmarried people): this is a broader right of sexual conduct.
iv. Prostitution: commerce connection?  Health?  Lead to violence against women?  Poverty?
v. Adult Incest: illegal in every state.  Birth defects?
vi. Banning sex to stop passing of disease:

vii. Sale of sex toys: 11th Circuit said that Lawrence is a Rational Basis review.  There is a rational basis between the law (the ban of sales) and the state interest (discouraging prurient interests in autonomous sex).  For public commercial activity, morality does pass the Rational Basis test.
5) Fundamental Rights in the Face of Death:

a. The Right to Refuse Treatment:

i. Cruzan v. Director, Missouri:

1. Facts: Cruzan was in a car accident and rendered into a persistent vegetative state.  Her parents sought to have her life support removed after there was virtually no chance of her recovery.  The hospital refused to remove because a state law required clear evidence of a desire to be removed from life support.  The Courts uphold this higher standard of evidence to determine what the individual would do.
2. Rule of Law: a state may require clear and convincing evidence of consent by an individual prior to the cessation of life support procedures upon that individual.
3. Parents argue that the state is infringing on Cruzan’s fundamental right to refuse treatment.

4. Holding:

a. Competent = fundamental right to refuse life saving treatment.

b. Incompetent = state can require a heightened evidentiary standard for the right to refuse treatment, because the state has an interest in preserving human life.

5. State recognizes the arguments on both sides, but would not want to make the mistake of allowing a person to refuse treatment when they really didn’t want to refuse that treatment.

6. Concurrence: O’Connor – right to refuse unwanted medical treatment.

7. Dissent: Scalia

a. No right to refuse unwanted medical treatment.
b. Why? Because suicide is against the law and the state can do what it pleases to keep you alive.  No difference between shooting yourself and starving yourself to death.

c. The ultimate decision should be left to the Leg.

8. Dissent: Brennan

a. This is a fundamental right, and thus subject to Strict Scrutiny.  The state has too vague of an interest to uphold the heightened evidentiary standard.

9. Dissent: Stevens

a. MO Leg is trying to define life and should not define life from a religious view.
i. But, the law has to define life (what is murder?)

b. She is really dead, so evidence of her will is not needed.
b. “Assisted Suicide”:

i. Suicide:

1. It is a crime.  Why?  So a criminal can’t get around the forfeiture of his property.  However, this has changed now.  Laws against people aiding suicide.

2. What about a mental condition where there is a strong compulsion to amputate one of your limbs (this is a real medical condition)?
ii. Washington v. Glucksberg:

1. Facts: Washington state statute expressly prohibited physician-assisted suicide, categorizing it as murder.  Physician can’t actively and knowingly cause death.
2. Rule of Law: State law prohibiting physician-assisted suicide is not a violation of due process.
3. Difference between refusing life saving medical treatment and committing suicide.  History is clear on this distinction.
4. History/Tradition ( no approval of suicide anywhere in history.

5. How are Fundamental Rights determined?

a. (1) Fundamental rights must be objectively rooted in the nation’s history and tradition and implicit in the concept of ordered liberty.

i. Ordered liberty = something so inherent that society couldn’t function without it.

b. (2) There must be a careful description of the asserted fundamental interest.

6. What does this mean?  Seemed like the fundamental right determination was clear, but Lawrence came along in 2003 and messed things up?  What is a fundamental right…not entirely sure, but at least there is some direction.

7. The right to suicide is not fundamental =  apply Rational Basis test.  State has an interest in preserving life, integrity and ethics in medical field, guard against involuntary and voluntary euthanasia, protect vulnerable groups (poor, elderly, disabled, etc.)

8. Concurring: Souter

a. Should follow Harlan’s Poe dissent for determining fundamental rights.

b. Fears euthanasia

c. Tradition constantly changes, so the court should look to it.

9. Concurring: O’Connor

a. No fundamental right to suicide.

b. Maybe a fundamental right when the patient is terminally ill and in severe pain.  But this is not an issue here.

10. Concurring: Stevens

a. A person’s life has benefits to others.  State has an interest in protecting all people’s interests.

b. But probably doesn’t apply to terminally ill patients because they are going to die soon anyway.

11. Concurring: Breyer

a. Right to die with dignity for a terminally ill patient.

6) Fundamental Rights:

a. Recognized = private school, foreign languages, contraception, refusal of unwanted medical treatment, (same sex intimacy), (abortion – subject to undue burden review)

b. Not Recognized = freedom of contract, suicide with another’s assistance, (no general right to suicide) 
7) Applying the Levels of Scrutiny:


Conception				First Trimester	          Viability (Second Trimester)	to Birth








State cannot infringe			State can regulate			State can regulate in interest


on woman’s right			in interest of protecting		of protecting potential life.


to have an abortion.			mother’s health/safety.





Conception					Viability					Birth





1) Woman can choose to have an abortion.		1) All state regulations are subject to Rational


2) Regulations are subject to Undue Burden		Basis review.


Test.


3) State may impose health/safety regulations











Is The Interest a Fundamental Right?
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